JIIFETRKRN S

BEERH > N=—

http://www.khi.co.jp/kpm/

W OH X # T105-8315 RRHBEXEBF1THEI4-5
Tel. 03-3435-6862 Fax. 03-3435-2023

M F A % T650-8680 #FMPRXE/IKE1TEI-3(HF7YZX2ILET—)
Tel. 078-360-8605 Fax. 078-360-8609

B F L5 T651-2239 #MAMAEXIEAETIAZR234EH
Tel. 078-991-1133 Fax. 078-991-3186

B E EA T812-0011 ERMHESRESHAITE BERAF-LEHLNT 1V 79F)

Tel. 092-432-9561 Fax. 092-432-9566
FRY-E2E 49— T272-0015 FEEMIIIAR=4TE-2
Tel. 047-379-8181 Fax. 047-379-8186
LRY-EAL - T794-0028 EHEESATLERAITES3 (VTN 4R, IEESER)
Tel. 0898-22-2531 Fax. 0898-22-2183

BEY-EAE 54— T811-0112 EEENEEH=EI THF2T B10-17
Tel. 092-963-0452 Fax. 092-963-2755

KAWASAKI HEAVY INDUSTRIES, LTD.

PRECISION MACHINERY COMPANY

Tokyo Head Office

1-14-5 Kaigan, Minato-ku, Tokyo 105-8315, Japan

Phone +81-3-3435-6862 Fax. +81-3-3435-2023

Kobe Head Office

Kobe Crystal Tower, 1-3 Higashikawasaki-cho 1-chome, Chuo-ku, Kobe
650-8680, Japan

Phone +81-78-360-8607 Fax. +81-78-360-8609

Nishi-kobe Works

234, Matsumoto, Hasetani-cho, Nishi-ku, Kobe 651-2239, Japan
Phone +81-78-991-1160 Fax. +81-78-991-3186

OVERSEAS SUBSIDIARIES

Kawasaki Precision Machinery (UK) Ltd.

Ernesettle Lane, Ernesettle, Plymouth, Devon, PL5 2SA United Kingdom
Phone +44-1752-364394 Fax. +44-1752-364816
http://www.kpm-eu.com

Kawasaki Precision Machinery (U.S.A)), Inc.

3838 Broadmoor Avenue S.E. Grand Rapids, Michigan 49512, U.S.A.
Phone +1-616-975-3100 Fax. +1-616-975-3103
http://www.kpm-usa.com

Kawasaki Precision Machinery (Suzhou) Ltd.
668 JianLin Rd, New District, Suzhou, 215151 China
Phone +86-512-6616-0365 Fax. +86-512-6616-0366

Kawasaki Precision Machinery Trading (Shanghai) Co., Ltd.

17th Floor (Room 1701), The Headquarters Building, No168, XiZang Road (M),
Huangpu District, Shanghai, 200001, China

Phone +86-021-3366-3800 Fax. +86-021-3366-3808

Kawasaki Chunhui Precision Machinery (Zhejiang) Ltd.
No0.200 Yasha Road Shangyu Economic Development Zone, Shansyu,
Zhejiang, 312300, China

Phone +86-575-8215-6999 Fax. +86-575-8215-8699

Flutek, Ltd.
192-11, Shinchon-dong, Changwon, Kyungnam, 641-370, Korea
Phone +82-55-210-5900 Fax. +82-55-286-5557

Wipro Kawasaki Precision Machinery Private Limited
No. 15, Sy. No. 35 & 37, Kumbalgodu Industrial Area, Kumbalgodu Village,
Kengeri Hobli, Bangalore, — 560074 ,India

ZOHLZATISEHORNBE . WRDEOFELUET - EETIHEPHIET,
Materials and specifications are subject to change without manufacturer's obligation.

ZOHEATISBEREFERALTVET,
This catalog is printed on recycled paper.

B Kawasaki

Cat. No. KPM0923 Jan. ®
Printed in Japan

—BELMHA
PEIVIEANIE=Y
Axial Piston Motors
for General Industrial Machinery




CDHRmDTEHRA.

CfEAICHTDT

ON APPLICATION / USAGE
OF THE PRODUCTS

SHORME. TR EAFERFORRICEDINT

BN BUVRESEO FCREL TN T
RALE RSB IO TR RDMICTREL LEVNFY

FKOBELWVELET,

ZDAZATICIBEINTWAE R ERINAEMED
SR BEDY AT LN DEAMEDRE L HE
DRT LDFEETEFIIMEERERETIAD  BEICIE
CTHAMPRTANETLESTHSHIBIL TSV, £=.
BICRFOH2OTRER THAREIRETL  HEM OIS
DRIBEMEICDVWTDRAEEBL T AT LEIERLT
{FE&LY,

SRDZERICH > TR  BE LEDEEFIBELETD
EEULWMERBAETEENEEN,

ZDAZOJI\EEH SN AT IER G BRI PE
BEZEHRAT B IARIETHY) ARILETIIHIEE A,

RICRYTIIERAPRETOIFERICH-TE E

EIINECES & A QW 2/ {Qt- 1A

ORFEEEN TV B RS DR PIRE

@QRFH M EE BREEDAEICEDNDIEE,

@ ANXPHEICKELZEDY FHINBAHE. &<IC
LZRMEPBRINBHRIFEDNBIGE,

AHEOJICHHF SN BERIE. FELULICEEIN SIS
BPHBNET RFIERIC OV St THERAE LS
728L,

W = WN

Although our products are designed on the basis of our
profound knowledge and long experience, and manu-
factured under the strict quality control system, the fol-
lowing must be taken into consideration in actual use.

The operating conditions of the products shown in this
catalog vary depending upon each application, and
therefore, the decision of the products' suitability to
the system considered must be made by the designer
of the hydraulic system and/or the person in charge of
determining the specification after making analysis
and conducting tests, if necessary. The study of the
specification shall be done based on the latest catalog
and technical documents, and the system must be
composed taking into account situations regarding the
possibility of machine failure.

Prior to use of the products, descriptions given in the
SAFETY PRECAUTIONS must be observed for the
proper use.

The technical information in this catalog represents
typical characteristics and performance of the prod-
ucts, and not guaranteed ones.

In case the products are used in the following condi-

tions or environments, please consult Kawasaki prior

to the use.

(D Unspecified conditions or environments

@ Use for atomic power, aviation, medical treatment,
and/or food

® Use likely to affect human beings or assets signifi-
cantly or requiring particular safety

The information described in this catalog is subject to
change without notice.
For updated information, please consult us.

Y, = W

Bl

R=y
C@@E]@C};ﬁﬁﬁ\ :{ﬁﬁﬁ‘zaﬁﬁ:jt .......................... ‘|
ﬁ@i@/}%’:gg ........................................... 2
TR 7 FIvIVERAN Y E—=ID/\UT =232 oo 3
BEERERT X vIIEARNE—4
M3X‘)U—7\ ............................................... 5
AZERERT7XIvIVERXNE—4
M3B~‘/IJ_7\“ .............................................. 11
R 7 X vIILEAR S E—4
M3X/M3BB-RG /T v evvmeeneeineieiinenaee. o3
PR 7 £ v IVERRE—R
Kany_X .............................................. 25
ﬂ;@ﬁ}@ .................................................. 27
JR— T Tl —E e 27
MIBE—AOIZEEEHAE - oo o8
Ey}&i@;}%.‘\ ............................................. 29
BT v 31
g |éﬁ:ﬁ§ ................................................. 33

GONTENTS

page
ON APPLICATION / USAGE OF THE PRODUCTS: ++++ -4+ 1
SAFETY PRECAUT|ONS .......................................... 2

WIDE VARIETY OF OUR SWASH-PLATE TYPE AXIAL PISTON MOTORS ----3
Fixed-Displacement Type Axial Piston Motor

IIBX SERIES v v v vreremeeneeine ettt 5
Variable-Displacement Type Axial Piston Motor

MsB SER'ES .................................................... 11
Axial Piston Motor with Reduction Gear

M3X / M3B-RG SERIES -+« « v v v vvveeeeemmmemeiiiii. 23
Swash-Plate Type Axial Piston Motor

KBX SERIES <+ v v v veermeerene ettt e et o5
OPERAT'ON PR'NC'PLE ......................................... 27
PARK'NG BRAKE(Opthn) ....................................... 27
DISPLACEMENT CHANGING MECHANISM OF M3B SERIES -+ - 28
CAUT'ON FOR HANDL'NG ..................................... 29
PlPlNG ......................................................... 31
SPEC'F'CAT'ON STUD'ES ...................................... 34

RE LDFEFRIA

AAyay OB AITHEH 2727012 Tt [ E GO W TOER | R Y% B G ORERFHHEHELZ T M T HFW 72724 EL
DI LUF BB D2 42 BT B BB 6 37857 O b BIERALEE v,

[(R2ICEHT 5 EERE]

@ Aii?é‘.
@ Ai&tﬁ
® &*}EE
@ A*}iﬁ

OBEH X BFE

@¥BRLEES
RREAICOVTOER

(1) REERBIBFOFEEIR

HREMVBOIBRICID ETIZEN HIE
TOTRRICICUTREEEFRL T
Ay,

HMDEE (FERBICLOTR FEIK
AIENBERDINTEZEN HIETDT,
TEEREICHPERELTLES L,

B F 570 ANV SEELEY SV
EINZILEWTLERW, (FBIRR A,
SHRNAEERITIEN BINET,

B RICHHEL A EEN I+ 5 IS EES
TLIZE W BB EZREL ) RO TU D
ETBENDHBINET

(2) REA DB T S U DERER

@ A’}i’é

@ Aé%

B B B BEAR A EDEIL.

ERHEDH AP TTHEo TSN,

*FMRBOH D HERERAELT 24K
RE FLRUHOY-—EXMEESZY
%o

PEEETEIBICIRLTRBOEREY].
BEYE. IO ENRIEL AT EETEBL
TLIZEW, F 2 AR EADENH 0]
ETHDHEHHBL TS,

®HBhE
@BIRER

BREHRIEIVTERE>THSTES
TLIEBW BT 2ENPHNET

BRI EE B LIREEICL T2,
FIVADFEH DU RR . —IVEEIBICELY).
W8 CHRNACERI TR HIET,

SUSER I BB DLTREDRILLE
FERURREDMLVI TRED DI TLZEL,
HMENDOE T ET 2EEBIR R BB,
HRNERITIErHBIETOTERLT
[ Q-1

(3) B D EFIR
DA\ BB BEEEBETIEREOSZBET

@ Aii%

DFRTIE MR E BB RS AMEX S
FERALENTERN,

R TR E—2BHEDEGHDREH /N~
BBFRUEEEL  FRRELEDEE
ABERGIELTL &,

EE (BB ARN ELE) W REELLE
SREBICEGREEILL DELNEEE
CTLEEW BB KK D B EDBN D
HNET,

MO TEBLEEGRT S5 EILHERKR. &
[ERPIELWCE BLUHFREIBBICEA
DBV EEREBLE ETEEL TSN,

SAFETY PRECAUTIONS

Before you use the product, you MUST read the operation or operators manual and MUST fully understand how to use the product.
To use the product safely, you MUST carefully read all Warnings and Cautions in this manual. You MUST also observe the related
regulations and rules regarding safety.

B Cautions related to operation

© A

CAUTION

® A

CAUTION

® A

CAUTION

© A

CAUTION

Use the safety equipment to avoid the in-
jury when you operate the product.

Pay enough attention on handling method
to avoid pinching hands or back problems
that may be caused by heavy weight of
the product or handling posture.

Do not step on the product, hit it, drop it
or give strong outside force to it, as one
of these actions may cause the failure of
work, damage or oil leakage.

Wipe the oil on the product or floor off
completely, as the oil creates slippery
conditions that may result in dropping the
product or injuring.

EWarnings and Cautions related to
installation and removal of the product

® A\

CAUTION

2A

WARNING

Installation, removal, plumbing, and wir-
ing must be done by the certified person.

*CERTIFIED PERSON : a person who
has enough knowledge like a person who
is trained by Kawasaki’s hydraulic
school.

Make it sure that the power of the hy-
draulic power unit is turned off and that
the electric motor or engine has complete-
ly stopped before starting installation or
removal. You must also check the system
pressure has dropped to zero.

AN

WARNING

RN

CAUTION

® A

CAUTION

Turn off the power before starting wiring
or other works related to the electric
power, otherwise you may be stuck by an
electric shock.

Clean the threads and mounting surface
completely, otherwise you may experience
damages or oil leakage caused by insuffi-
cient tightening torque or broken seal.

Use the specified bolts and keep the spec-
ified tightening torque when you install
the product. Usage of unauthorized bolts,
lack of torque or excess of torque may
create problems such as failure of work,
damage and oil leakage.

BWarnings and Cautions for operation

® A\

DANGER

RN

WARNING

AN

WARNING

AN

CAUTION

Never use the product not equipped with
anti-explosion protection in the circum-
stances of possible explosion or combus-
tion.

Shield the rotating part such as motor shaft
and pump shaft to avoid injuries caused by
being caught of fingers or cloths.

Stop the operation immediately if you find
something wrong such as unusual noise,
oil leakage or smoke, and fix it properly.
If you continue operating, you may en-
counter damage, fire or injury.

Make it sure that plumbing and wiring are
correct and all the connection is tightened
correctly before you start operating, espe-
cially if it is the first run.

® A*}IE
® Aii%

@ Aiiﬁ

(B)JIS B 8243 EHREDIEE
®JIS B 8361 MET X7 L@Ehl

BREHa07 N\ THEELEICEEEHS
NAEHLA TERL AV TN,
Eanh HRIGHERPVYL/IRDRE L
BHEICIIERICEVET DT ERHKD
MhAVEITEBL LIV, RIFED
BhHHIET,

{EEDMISBIE LM EERL B REOHELE
ETERL TSV MFHFAR EEBOD
BN HIET

(4) RF-RELDIEEIR

O] Aii.’é
@ Aii,’é

® Aii,’é
@ A\ 2R

AN
CAUTION
AN
CAUTION
STAN
CAUTION

HERICEBRAOIERABHILEV
TLREEN,

B IWT) < BB AMHABELEL BV TS
72V EHONMEREE FIBTE T HikE
PERORRICENET, POEETHE.
HABELET 35S REPIHBDOHZHD
THESTLEE,

HUEEER RETIHEE. ARBE.
TREL ERIERIFIEREL . BAEE. PhEE (R
TLEBW,

HRERIMRERICER T3 580 0—
NVEORZBEDBETDIHENHIET,

Use the product under the specification
mentioned in the catalog, drawings and
specification sheet.

Keep your body off the product during the
operations as it may become hot and burn
your body.

Use the proper hydraulic oil, and maintain
the contamination in the recommended
level, otherwise it may not work or be
damaged.

B Cautions related to maintenance

O

CAUTION

A

CAUTION
AN
CAUTION

AN
CAUTION

Never modify the product without
approval of Kawasaki.

Do not disassemble and assemble without
approval by Kawasaki. It may cause trou-
bles and failure, or it may not work as
specified. If it is necessary by all means to
disassemble and assemble, it must be done
by an authorized person.

Keep the product from dust and rust by
paying attention to the surrounding tem-
perature and humidity when you transport
or store the product.

Replacing the seals may be required if you
use the product after long time storage.




‘PR E—F T BHH5HDH=—X[CKawasakiD

High-Performance Motors You Have Been Waiting for

FRE—FDIRZE T,

H7 X OFRMERT X vIVERRE—4
Kawasaki Swash-Plate Type Axial Piston Motors

— X EE R A FEEXEMmA
for General Use for Industrial Vehicles
L
ELE —wma —mma A AR EAAE
P General General for Swing for Travel
(cm?) EEE—% 2EE—Z EEE—% 2ERE—%
Fixed Variable Fixed Variable
P rated=31.4MPa (K3X series) _ P rated=20.6MPa (size 22,45)
29.4MPa Prated=294MPa 29.4MPa (siz6 63.210) P rated=34.3MPa
20.6MPa_(Reduction gear type) 20.6MPa (Reduction gear type) 32.4MPa (size 130,180)
P max. =24.5MPa (size 22,45)
P max. = 34.3MPa P max. = 34.3MPa 34.3MPa (size 63,210) P max. =41.2MPa
39.2MPa (size 130,180)
— 50 K3X63
L 80 K3X80 M2X63
K3X90
— 100
K3X112 ‘= M5X130
— 150 =
M5X180
— MCB195
200 M3X200 M3B 200 M2X210
— 250
M3X280 M3B280
— 500 M3X530 M3B530 MCB530
—7
20 M3X800 M3B800
M3X200-RG03S
—1,000 with Reduction Gear
1500 M2X63-RG06
— b with Reduction Gear
M3X280-RG06S M3B280-RG06S P rated=28.0MPa
el Atesleiien (G with Reduction Gear
M5X130-RG10
with Reduction Gear
P rated=27.4MPa
—3,000 M5X180-RG 16
with Reduction Gear
P rated=24.0MPa
M3X530-RG10S M3B530-RG10S _
with Reduction Gear with Reduction Gear mixgisguggnzgear
P rated=29.4MPa
M5X180-RG17C
with Reduction Gear
—5,000 P rated=23.0MPa
M3X800-RG16S M3B800-RG16S
with Reduction Gear with Reduction Gear
M5X180-RG23C
with Reduction Gear
P rated=24.5MPa
N N TN N N N N N N N N NS N N N N
—20,000 M3X280-RG100C
with Reduction Gear
P rated=27.5MPa

ERONVI=ar 0I5 [ OHEBEROERKICOVNTANZOT TRALTVET,
This catalog introduces motors for general use. (Colored in [_____] in the above table.)

45 FEATURES

0000000000000000000000

1. ERXBZNUI—Y3y

OEEBEE—IMIXIVU—XH4#EI0B=T149cm3
~800cm3F T il T845cm3~5120Ccm3&% T,
BT KIXIU—Xh4#EiETINBE1H63~111cm3%
HIN—

O EREET—YMIBIYU—XAH4#iET 195~800cm3
FCREEMT1512cm3~5120cm3E TH/IN—L. K
BELHNBEOHRSGEHEE
Fle . BEHEICHBLIELF 2L —5 = %lE

2. FHUBIREEHNEOERE (M3X.M3B.K3X)
OIRE /LT T — N ERBHE/NS Y Z[C KD EREEEE
EEEEEER

3. EEICE<<BSLVEEH (M3X.M3B)

0 ELVETEREIELEMX/MBYU— X DHEE % &

O EBMIMDE LR TEDERE

4. FTF2aF)LIN—Y (M3X.M3B)
e KBEN—F VI TU—FE/NILTHIN—ICHE
o E—YHIHADEIE/I\L I EE—4 (CEUIEAE

5. ZDfthDE—%

O SZRIIMDIEEE— ¥ [CHBIFHEEEZ T ) (U MCAEL
feM2X.MBX¥U—X

OERBMETADA— NIy IE—FMCBYU—X

CNRERSNVISITIVERNVE—S

M3X¥U—X
M3X Series

M3B¥U—X
M3B Series

1. Wide variety variation

® Fixed Displacement Motors
MB3X series consists of 4 models and 10 displacement
types ranging from 149cm?3 to 800cm?3. M3X with reduc-
tion gear series covers a displacement range from
845cm? to 5,120cmd. K3X series is made up of 4 models
with displacement range from 63cm3 to 111cm?.

@ Variable Displacement Motors
M3B series consists of 4 models with displacement
range from 195cm3 to 800cm?® and from 1,512cm?® to
5,120cm? for those with reduction gears. Several com-
binations of large and small displacements are available
along with a wide variation of regulators are also avail-
able for various control options.

2. Excellent self-priming capability
and max. speed (M3X, M3B, K3X)
® A spherical surface type valve plate and full-balancing
mechanism enhance self-priming capability and max.
speed.

3. High reliability based on long experience
(M3X, M3B)
@ Building on the knowledge and experiences of reputed
MX/MB series, M3X/M3B series have been widely used
especially as winch motors.

4. Optional parts (M3X, M3B)

® Built-in parking brake is available for M3X/M3B motors.

® Various control valves are available for M3X/M3B
motors.

5. Other motors

® M2X/M5X series motors are specifically designed for
swing function of construction machinery.

® MCB series plug-in motors are available for traveling
construction machinery.

e Low speed, high torque radial piston motors are pre-
pared for general industrial use.

M3X/M3B-RGU—X
M3X/M3B-RG Series



o M3X Series
BEBSER7FVvIVEANE—H

Fixed-Displacement Type Axial Piston Motor @® {1#k “SPECIFICATIONS

iz X /model M3X200 M3X280 M3X530 M3X800
. L ODARTE displacement Vg cmd 195 280 533 800
Serles £ A | E® & rated 29.4 (300)
pressure —
) MPa(kgf/cm?) & = max 34.3 (350)
M3XVU—(, — MBS B EMAT - L CEE BEE&EEE /max.speed  nmax. min~ 1,900 1,700 1,400 1,200
= = 5 =~ )= o - ~/J\
ﬁf‘ﬁ;tﬁﬁfﬁ#l—%“%ﬁ{diL,?’wiiﬂq%Et[h\j/l\ah & K & 2./ max. flow L /min 370 480 750 960
pry p I\ Co
= - E #& b JL U/ rated torque N-m 910 1,310 2,500 3,750
The M3X series are newly developed motors for construc- E 1% B # / rated power kW 180 230 370 470
N tion machingry, industrial machinery or other appli.cations. b — ZKHE / case volume L 1.0 13 25 38
The design based on technology and experience of S of et Nom? o 20 e 14
B current MX series is more compact and enables a speed moment ot inerta m : : :
> range. = mass 2 | & ¥  standard 42 62 90 133
kg 1N—%>7 7L —%{$% with parking brake — 80 134 195
OM3XEXER EFR.M3X Optional capacities )
] o o . ¥ X = i;_scapqc\:ity (Y : #Z #£ /standard) SEIH p XN =constant
IN—F2JTU—=F{F fit with parking brake model REEEE  max. speed max. pressure
Vg *195 149 |cm®
EARE
@® 15K, FEATURES M3X200 | | 100 | 2140 |min e )
*
; - Max280 T
1. Bh7={EEHEEE 1. Advanced Low Speed Characteristics va | %533 | 499 | (85 | 457
M3X530
RLVZSDERL EROERFE. HUWESHEHIC KD New design which reduces pressure ripple and friction ena- ”\;‘;" ;ggg 1;‘23 (1%43270) 1;‘3? Yo
TIREEDIEAE . FHSHIFREMAEEEIRLEU . bllng_e)fpanded lower speed limit and smooth starting char- M3X800 = 200 230 o 570 AR
acteristics. - - : permissible pressure, speed related
2. High Speed Operation Spo— sacos
2. m{t gh Speed Op @ :ETETETET,CALCULATION FORMULA
EEEICEARBRORAICEST. SEEETEEICLE New materials enable an increase in the maximum speed
e s < . = _ which has 1.5times of current MX series. BYEHE  LUmin Vg-n Vg HELOURTE 3
Ule. REEERREE MXYU—ZXD# 1 552 RRUELI required input flow Y= 000y displacement
# WEEEE  mint L av1,0009v T e M
3. AR 71vhk 3.BestFit ... output speed vo n oEEEE mn
speed
149cm3~800cm3DIEIC 4B 10REBOE—5% 4 models and 10 capacity motors are carried in 149 - 800 Wby Nem(kghm) . Vg:Aptzhm Ap  EMEDE  MPalkgiom?)
BZFEUE RESIEMXYU—ZERUICLTLWET DT cm?. Installation is the same as current MX series. Larger output torque 2 effective pressure difference
- N, < " M ity i ible with i R ies. .T- . AIERE
BRI BRTT. S OMRRIRGYU—XEofatlc oVl Pasoiie win reduction gears RE series i NS — 2mln_ _ T 7 Jolumetic eficiency
FoT. EBICABRETHN\—TEET, (23X—ILR) PP 60,000 % Thm e
qv - Ap 7t mechanical efficiency
A — - ’ 7 RkpE
' ﬁ’ﬁﬁm/ORDERING CODE 60 overall efficiency

(M3X][530/-A] [C| [N]-[485]- [001A]- (D3] @® i /DIMENSIONS s+ gt

B port
M3XU—X [M3X3i35¢3% ACN] N A/ M [M3X5353% BPN]
MS3X series A B R A B
‘ BE{LHR oil temp. code 5 1 i 5
H4X size P L | P . |
200 : 195cm® 530 : 533cm? £ 5| hRE i % G T { anlr =
280 : 280cm® 800 * 800cm® marks | oil temperature range i (emarks _ =] Skl i F | ]|
V2 | -20C=0=S90C | ieaahvans poronier I o =B T o
. « Vi |-20C=6=90C |1 0a7 E T EEN T
#7723 #BET—K optional function code —— e Rpven—— oil seal luoro-rubber W (1 " c 3 0 i
s 7271 20C=6=90C L _ . S — L] g Ve Waput
A #R: standard . . D1 |-30C=6=90C = =9
B : /X—F>JTJL—FF% fit with a parking brake 55 e g‘ ! . ! E—h o
. == A =: = ,
21K shaft code = e 2 € = Ea ks
C : JIS 12 RY2—PRT 1> (5h) (1) L maEs o
JIS involute spline (external) (standard) design code 1%/ size A B c D £ E G H I ] K L M N 0 P S
P :JIS >R 2—bXTF51> ()
JIS involute spline (internal) P Y M3X200ACN | 107 | 263 | 50 |225 20 | 160 | 115 | 110 | 224 | 4-¢18| 75 | 2Xx4, M12-175 | 72 22 | 190 9 | m=25, z=16
1 1 IS AL —hE— optional capacity M3X200APN | 49 | 263 | 35 |225 | 20 | 160 | 115 | 110 | 224 | 4-¢18| 75 | 2x4,M12-17.5| 72 | 22 | 190 | 9 | m=2.5, z=13
JIS straight key AT BROHFR M3X280ACN | 98 | 290 | 45 [252 | 22 [ 200 | 130 | 124 | 268 [4-¢17| 75 | 2x4,M12-17.5] 72 | 25 | 230 | 11 | m=2.5, z=16
_ o " showed only optional capacity M3X280BPN | 33 | 290 | 44 [252 | 22 | 200 | 130 | 124 | 268 | 4-¢17| 75 | 2x4,M12-17.5| 72 | 25 | 230 | 11 | m=2.5, z=16
E'i@?}i;‘“éﬁf;;‘iﬁ%\éfr”tﬁ?ﬁ”?’fe)ss viow from shaft end) M3X530ACN | 123 | 316 | 54 |2785| 24 | 250 | 165 | 154 | 335 |4-¢22| 75 | 2x4,M12-17.5| 72 | 30 | 280 | 19 | m=2.5, z=20
A () port: high press., M3X530BPN | 38 | 413 | 55 |278.5| 24 | 250 | 165 | 154 | 335 |4-¢22| 75 | 2x4,M12-17.5| 72 | 30 | 280 | 19 | m=2.5, z=20
I\'\/'I . 2E ; - C:]‘t’ick:""slfv\:iotatr'°t”t(iSt:ndard) M3X800ACN | 130 | 350 | 62 |312.5| 27 | 280 | 178 | 169 | 376 |4-¢22| 75 | 2x4,M12-17.5| 72 | 28 | 310 | 16 | m=3, z=19
: " ant-clockwise rotatio M3X800BPN | 45 | 461 | 62 [325 | 27 | 280 | 178 | 169 | 376 |4-¢22| 102 | 2x4,M16-23 | 92 | 30 | 310 | 16 | m=3, z=19




@® 455, PERFORMANCE CURVE

M3X200

100 I 100 : 5
p=30MPa —————— ——
% | (306kgf/cm®) o ’p:wMPa =30MPL1 p—ZD‘:\/IPa (204kgf/cm?)
> _‘\\\\ z (102kgf/em?) Raoekafiom?
§ \ _E) g
g a0 [~ p\=20MPa(204kgf/cm2) & 80 339
X o w
] _ = =8
M% 70 p=10MPa (102kgf/cm?) 22 70 |2 e 5
RS 5 p=30MPa (306kgf/cm?) Pre us
£93 e _-T ENe)
#E 4 60 S S =1
R T _J===="[ p=20MPa(204kgf/cm?)
=== T T === 5Z10MPa (102kgffom?
50 50 e == d g (102kglom?)
0 400 800 1,200 1,600 2,000 0 400 800 1,200 1,600 2,000
[E##E speed  min~ [@45%E speed min~
@iZENRhE /Starting mechanical efficiency o7 IV ELEFFHE /Radial load and bearing life
E 1,000 1,000,000 ==
5 (100) o sy?nbole v F
E s & / £ B g | N
o fgg 100% /// 2£ 100000 ks (001 T
o
oy (60 /85% h @ 90 | 7,000
35 400 Q‘._g ® [ 90[14,000
4153, ggg 2 1000 @ 0 [14,000
HE = (k] : ® [180]14,000
@E @0 é/ #38 @ — a =82mm
5 0 1,000 : Vg=195cm’
0 (5) (10) (15) (20) (25) (30) (35) 5 10 40 L7_=1.000min
51 (102) (153) (204) (285) (306) (357 2 P F ald SHOEESR I,
FEIE different pressure Ap MPa (kgf/cm?) E7 pressure p1+p2 MPa (kgf/cm?) R?gardivag fib F and a, please
o . refer to the figures in page 9.
S EATHERENG  RET - ANEAHER /Idle & boost-graph @ {RiE4514,/Shaft creep speed
T (20.42) ?1'?0) & 5
5
S 2 -
o / 2 3¢
- So EG 3
% = I & /
()
g 1 pb 0.0 §§ ne 2 =
Q — - DNE
Ro (102 — 0 g2 PER
2 #Hs
ﬁég " X ‘g 0
ma pid L8 0 5 10 15 20 25
o e (51) (102)  (153)  (204)  (255)
#2 —01 ®E JL—*E pb MPa (kgl/cm?)
0o 100 200 300 400(_1 o braking pressure
ME flow L/min
M3X280 @Rz, Mechanical efficiency (%) O ETERE - 51EB8Y —% /Volumetric efficiency
100 i 100 10
p=30MPa >
[ — 2
L — —— ) = 90 b p=T0MPa (102kgtiom?) P 2o ) p\=30MPa 8
g \\\: e 9 (306kgf/cm?)
3 g0 p=20MPa (204kgflom?) <& 80 <
£ ND 6 £
oD T~ 1 @ =
‘}‘a p=10MPa (102kgf/cm?) g - %
= oy w
g 70 g 70 - |58
< e =2 o
£3 we p=30MPa (306kgf/cm?) 7 528
#e 60 60 =" =3
=T S=——| 2
17 N R p=‘20MPaI (204kgf/cm?)
50 50 m———— da=="
el ——————— p=10MPa (102kgf/cm?)
0 400 800 1,200 1,600 2,000 0 200 400 800 1,200 1,600 1,80
[E#m%E speed min~ [E#R%E speed min~'
@iTEN%hE /Starting mechanical efficiency o7 IV ELEFFE /Radial load and bearing life
£ 1,600 1,000,000 — -
3 000, ]
E (160 = = A
2 1200 & s sy;?\iole o N
E 3 (120) & 100,000 units |99
e o ot
NEICY] r 2 5 y
29 = 90 | 14,000
53 400 / = ?[,Sg 10,000 g 014,000
(40) 7~ 51 180 14,000
%% 200 &#3 a =75.5mm
g (20) 1,000 ngf%%gms. |
5 10 1 20 25 30 35 5 10 40 L2 ZLOOMN
(51) (102) (153) (204) (255) (306) (357) ¥ Fald OEOHESRLE,
F£[E different pressure Ap MPa (kgf/cm?) FE71 pressure p1+p2 MPa (kgf/cm?) Regarding ¥, F and a, please
- N fer to the fi i 9.
QO EATHERENMR  RIET—ANEAER /1dle & boost-graph @ {RIF4F14/ Shaft creep speed referfofne figures in page
2 01 5
T (204) (100 &
£ S
S = -
) g g’
=3 @
< 2
g 1 / 0o & £ RE e //
Q — . Qo N
R (102) %// © g2 R5
2 £
5&(& pid z2
m 2 —— X3 0
fsﬁ_ﬂ 18 0 5 10 15 20 25
w e e (51) (102)  (153) (204)  (255)
&z _oq ™E JL—%E pb MPa (kgtlcm?)
00 100 200 300 400(_1 .0) braking pressure

@3N,/ Mechanical efficiency (%)

A2 flow L/min

HOHE REHETIRESFIETT,
The values given in the below figures are mean ones, and not guaranteed ones.

O =TEE-H1EBY—7 ./ Volumetric efficiency

M3X530

100 ‘ 100 50
Raobkgfica)
. (306kgf/cm = 2
%0 % =T0MPa (102kglcm®)_p"3oMPa 20MPa (204kgf/om’)
Ry 3 (306kgf/cm?)
2 p=20MPa (204kgf/cm?) S £
° 2 £
g 80 £ 80 3 3%
Xo p=10MPa (102kgf/cm?) S o
e g g8
#s 70 RE 70 20 &5
ey i S =3
®G ] p=30MPa (306kgf/cm?) =0
®E 4 60 === {10
=" _ - p=20MPa (204kgf/cm?)
50 50 ==222Ec==z222300 0 - - - - p10MPa (102kgfiom?)
0 500 1,000 1,500 0 500 1,000 1,500
B3R E speed  min~ 5 speed  min~!
@EEEE / Starting mechanical efficiency @7 IVIE EEFFF 6./ Radial load and bearing life
2 3(’3%%? - 1,000,000 AR
- o= Y|
£ ' _ B
£3 / 2L 100000 | unis {9001 N
b i % e
s 00% A b @ | 90| 9,000
Q3 / 85% 2 ® | 90[18,000
32, 000 4/ &' 10000 @ 018,000
3 #e
58’ (100) // Pgﬁ | ® 180 [18,000
= =96
@:@ % e 1,000 | E;‘/g:539’:11(:nr’]na
B o h n =1,000 min™"
0 5 1 15 20 25 30 35 5 10 40 ——
(51) (102) (153) (204) (255) (306) (357) E71 pressure p1+p2 MPa (kgf/cm?) ;fevg a?(“fnS%”ifz;f;f;;
FEIE different pressure Ap MPa (kgf/cm?) refer to the fijures in pf’:lge 9.
. OEAWEXTHHE RET-ZAMNEHHEIdle & boost-graph @ {RiF4FM,/Shaft creep speed
£ 010 T
S 2 £ 5
S (20.4) 100 &
E g
© / 1 g Tcg 4
s L~ 1 g2 EG
2 1 / 7 > é 3 ¢
R (102) ooe 8¢ W, /
Re (10 A1 |- o3 =a NG v
ﬁ g pid / // ] E{ﬁ X% 1
+e I b —
E( ; pbs// i r|< § o Iy
#5 0 000 RS9 0 5 10 15 20 25
0 200 400 600 800 1,000 1,200 1,400 1,600 e (51)  (102)  (153)  (204)  (255)
E flow L/min JL—*E pb MPa (kgflcm?)
braking pressure
M3X800 Q%= Mechanical efficiency (%) S ETERE 5158~ /Volumetric efficiency
100 100 %
T
l();)%%gf/’:(:amz) _ I 2_p=20MPa
Lo = 5 90 [p=TOWPa (102ktom)R; 2060 ) p=somPa— 40 _
3 = (308kgf/cm?) £
c \ s E
g \\ H Eo
g 80 S p—20MPa (204kgf/cm?) oE 80 308
%5 P ) X% o
= p=10MPa|102kgf/cm?) we g2
~+,9 [} B0
# € 70 Re 70 20 5
Rra S * o
&S ) p=30MPa (306kgf/cm?)
®E o 60 p=20MPa204kgf/cm?) - 1w
50 50 Zzzssfsozoochd :::::—-pﬁMl(’)a(mZkgf/cmz)
0 500 1,000 1,500 0 500 1,000 1,500
E4:%E speed  min™ M#5EE speed  min~'
%h3 / Starting mechanical efficienc O T7 I ELE#ISF G /Radial load and bearing life
OEZE
T 4500 1,000,000 —
5 gem & B V] ¥
= A = BifiT
Z o (350) SE units_|9e6-] N
=8 2,500 100% 7] 5o 1 ®© |0 0
£ (250) = | @ | 90| 9,000
NS} 85% 2
ig 1(155%(3 // 3[?_2’ 10,000 g 98 12(0)88
Ro A s ® [180]18.000
HE 500 =8 ‘ ~ :
25 0 T2 e i Yoz 800 ome
[z ¥ - in-t
0 (5) (10) (15) (20) (25) (30) (35) 5 10 40 L2 =1000min
51) (102) (153) (204) (255) (306) (357 £/ pressure p1+p2 MPa (kgf/cm?) . .
F£[E different pressure Ap MPa (kgf/cm?) P pi+p 9 gie,g;gr;g%@;’fi@élf;:e‘o
- ORATRREHNHR RET-AMENEIRIdle & boost-graph @ {RFFHF1%,/Shaft creep speed Fefer to the figurea in pege 9.
E 2 02 T
] £ 5
s (204) (20) &
2 =
s ge Ed 3
g 1 A 0.1 % g "e
Rg (102 // (10 88 ns 2
H_-i =1 R (=2} DNE
i 1 5 RE —
wE pid 1 / X% —
i€ o b 18 0
gg oL_Pbs 0 na 0 5 10 15 20 25
<2 0 200 400 600 800 1,000 E‘E (51)  (102)  (153)  (204)  (255)

@RI,/ Mechanical efficiency (%)

ME flow L/min

M3X Series

JHBE/oil te

mperature:50C

#5Z/oil viscosity:32mma/s

S ETERE - 5158 —7 /Volumetric efficiency

JL—*£ pb MPa (kgflcm?)
braking pressure



@® 1525575, BEARING LIFE

BANEEEEENO0=1,000min' DL EDEFEFH (B1o
S47)ZRLE T,
ERDEEHEEN T EHFGRIE TRICTKRDTLIIZE L.

Hl The calculated life (Bio life) shown in the graph is for speed
No=1,000min""'
Calculation of life for a random speed N is as follows.

No

L=N

Lo (LoINo'G(D%%%ﬁ )

calculated life for No

OM3X 70O MZFHF s/ Front bearing life OM3XVV#E3F45 /Rear bearing life

1,000,000 —
N\ 1,000,000 :
& \ 200 =
N\ VU my | T NN 0]
o N\ 280 & 28
S £100,000 N\ SE 3 200
o<1, N 2£100,000 530 s
e N\ it
- \\ |
©= 530 \1\\ &2
= 800 E'S
i 2 \ it 2 800
W 10,000 \ WS 10000
o N\ #3
\
1'0001 10 100 1%, 10 100
(10.2) (102) (1,020) (10.2) (102) (1,020)
E7 P1+P2 MPa (kgficm?) [E7 P1+P2 MPa (kgficm2)
pressure pressure
GE) P1: AEEH p2 : HOEH

(Note) ~ :inlet pressure : outlet pressure

@®>37)UfaE, “RADIAL LOAD

BH(CSIY7IVEEDNMERT 2HBEE. TRICRIHRIC/E
RAI3ELIICEDMITITLEEWN, COFEARMTDHES
U7 IEER FRRDORZE CBRITES W,

M In case that radial load is applied, you are requested to
install the motor so as to place the radial load toward the
arrow direction shown in below. Please refer to the relevant
list of each motor for allowable radial load.

[M3X2001]
[M3X530]
[M3X800]

[M3X280]

EER ARER~Y — 7
tilting direction mark

fEEAEER~Y — 7
tilting direction mark

m
-
o J

N Ah-lh.ll J

®/\—*+>5JL —+ PARKING BRAKE

M3X Series

i X /model M3B200 M3X280/M3B280 M3X530/M3B530 M3X800/M3B800
JL—% ML7 /brake torque Nem| 1,400 | 1,050 | 530 | 1,750 | 1,320 | 660 | 3,770 | 2,820 | 1,410 | 5,010 | 3,770 | 1,880
1&;1&@5 J59%>Y  cracking|1.8(18)[1.4(14)| 0.7(7) |2.3(23)|1.8(18)| 0.9(9) [2.4(25) [1.8(18) | 0.8(8) |2.4(25)|1.8(18)| 0.8(8)
MPakgtiem?) | XNA—7 T K stroke end | 2.3(23)| 1.8(18) | 0.9(9) [3.0(31)|2.3(23)|1.2(12) 3.1(32) [2.3(23) |1.2(12) [3.1(32) | 2.3(23) |1.2(12)
& E | L16G L16-G L16-G L16-G
SRR RA low press (1z=#) | L12-G | L6-G | (&) | L12-G | L6-G | (3=#) | L12-G | L6-G | (&%) | L12-G | L6-G
N o SHEBAERR p " |(standard) (standard) (standard) (standard)
TL—FHR3—F| pilot release = I
brake order code higmh | = — — — — — |H16-G |H12-G | L6-G |H16-G | H12-G | H6-G
TL—XH#E%| & FE
valve release |highpress.| ~— T T T T T T — | HeB | — — | HeB

GE1) M3XUU—ZXBDAAZAINTL—FF IN—F > THEREATYT,
E—ZAERRICIEEISEHEVEIICLTLEZL,
(GE2) EEMREF 2. AMO—7 T RE AL E7.8MPa(80kgf/cm?) L
TOEHEHALTIL—FERET LTIV BB TL—F
BRRENERLCENEDEEPBHEAICENETDTTEBL

7280y,

(GX3) I —RH6-Bl IEETANILEZ—INTL RINIVT HSERRRE
EHIASN T BEMIICTL—F P EERRLE T,

@ [E%X,/Hydraulic symbols

TJL—FEHa—FILX %X -G
brake order code

TJL— O —F HX X -G
brake order code

JL—%1H#3—-K:H6—B
brake order code

(Note1) The mechanical brakes of M3X/M3B series shall be used for parking
only so please make sure not to apply the brakes when motors are
driving.

(Note2) In case of low pressure release type, brake release shall be conducted
by providing hydraulic oil pressured more than stroke end pressure
and less than 7.8MPa(80kgf/cm?)
Please note that effective pressure is the differential pressure between
brake release and drain.

(Note3) In case of motors with H6-B as brake model code, release pressure is
provided from traveling counterbalance valve, and the brake is auto-
matically released.

PRr1

Dr

Am

@ JL—*ER44 8,/ Outline view of brake port

[

[ @ -t
R1

||I J(DRZ';-_I :5

I+ 0

PN ]

e g‘ 7 .

I

[=)
8
T

10



11

OE/ER7F+IvILIEARN E—H
Variable-Displacement Type Axial Piston Motor

M3B Series

L
i

BH———

IN—F2ITTU—=FA¢

® 5K FEATURES

1. @Bh7-{EEHERE
RL > ZB DI BEROEREE . HU VRIS
TERE DAL IEDSHFHEBIREERRUE LI

2. HELOER
BENEICENCBRORALAZTEBEDILEAICL

TEELZETEEELE UL, X/ NBEOSELZRFED

MB&ATD 2 &5h'5 3 AL FELIZ.

3. EENBEEFHHEICHIS
A 2EER
B:¥—45 VAR
:l“‘ —_ I’J—\ ﬂl’hh'}'{'EI’J—\
C: BA—EHlEHA+ BRI =HER (B4 RN — )

4. ERICEHBEHEH nl6E

S ERYE T E%Z BHIYIIR A & 2 U (S ERELL BRI EF THiltH
IAHLTERICIDTERHBEIRETT

® XX~ ORDERING CODE

fit with parking brake

M3BYU—XIZ, O—5UBZEMIXTYU—-XEH@ET DT
ElICKOTENERMEEE SREZTARECLI2RBE—F
TY, IZEBRERBEIRBEDHIMBE—YDEMZHLEIC. 2
EOBEZIBETHIAL. SBED 2FHIHE CH X B
HEEREICLTVET,

The M3B Series are variable displacement type motors
with the same rotary components of M3X Series which
enable the advanced low speed characteristic and high
speed operation.

The design of various displacement control is based
on current MB Series. The range of displacement is
100%—33% with 3 types of various displacement control
regulators. Electric displacement control is also possible.

1. Advanced Low-Speed Characteristics

New design which reduces pressure ripple and friction ena-
bling expanded lower speed limit and smooth starting char-
acteristics.

2. High-Speed Operation

New materials and enlargement of variable displacement
range have enabled the higher maximum speed. The ratio of
large to small displacement is enlarged from 2 (old model/MB
series) to 3.

3. Various Displacement Control Regulator (3 Type)

A Directional control valve
B : Sequence control regulator

C:Speed & CHP control regulator (Refer to next page)

4. Electric Displacement Control

The pilot pressure can be controlled by a solenoid-operated
directional control valve or a pressure-reducing valve.

M3B)—X
MS3B series

Y4 X size
200 : 195cm® ~106¢cm?®
280 : 280cm®~ 93cm?
530 : 533cm®~178cm?®
800 : 800cm® ~267cm?®

* 722 4BET—N optional function code
A 1% standard
B : /N—F>JTJL—F1FZ fit with a parking brake
#Z1K shaft code
C 1 IS 1 ARY1—hRTS1 (4418)
JIS involute spline (external)
P 1 JISALRY1—bRT 51> (AtE) (HE%)
JIS involute spline (internal) (standard)

1 1 JIS AL —hF—
JIS straight key

530]-[A] [C|-[533]/[178]-[001A]- D3]

JBE{EHE oil temp. code

2 2| hBmE =
marks | oil temperature range remarks

V2 | -20c=6=90C FTRIDY - 7yET s

all seal parts: fluoro-rubber
V1 |-20C=<6=90C FAINI—INDH 7RI L
-20C=6=90C

oil seal: fluoro-rubber
D1 |-30C=6=90C

D2 |-45C=6=80C

XETES
design code

NEE (cmd)
small displacement

ABE (cm?)
large displacement

@® 14§, SPECIFICATIONS

M3B Series

@LX1L—4 /Regulator

A 2&E YA

HEIESEICEL ) K/NBEICTEZLET,
B: =52 ZF

EROAZEICLY BEICK/INREIC
TEZET,

C: Bh—EHEA+HREREAER R
EFOEEICHIAPHDSTHARHE—TF
ICRDHEREICIN Z . SAERIESIEICIE U T
FEOREBICHB L £9, £/, 458ES
£ & BRI ]F b 5 VIS EREEGIRER
THIMT B ETERICLZBERHD
AJEET T,

A : Directional control valve

Shifts displacement small or large by re-
mote control signal.

B : Sequence control regulator
Automaticallg_ shifts displacement small or
large depending on the load.

C : Speed & CHP control regulator
Maintains constant horsepower regardless
of the load.Controls displacement at any
position by pilot pressure. The pilot pres-
sure can be controlled by a solenoid-opera-
ted directional control valve or a pressure-
reducing valve.

CHP : Constant horsepower

48

V9, max.
V9,x
1/2V49, max.

nx, max. N max.
HE RS

iz = /model M3B200 M3B280 M3B530 M3B800
BLOGAE | & KA  max V9 max| 195 280 533 800
displacement = : -
cm3 & /N min. Vg min. 106 93 178 267
E h | E® & rated 32.0 30.0 29.4 (300)
pressure = .
MPa(kgf/cm?) B = max 35.0 35.0 34.3 (350)
% = B 853K B n1, max. at V9, max. 1,900 1,700 1,400 1,200
max. speed
i n2, max.at < 1/2 V9, max. | 2,930 2,200 1,700 1,500
& KX & 2./ max. flow L/min 370 480 750 960
E ¥ b JU 7/ rated torque N‘m 990 1,340 2,500 3,750
E & B 751/ rated power kW 200 240 370 470
r— XM E / case volume L 1.6 22 42 6.3
GD21& / moment of inertia N+m?2 1.4 3.0 7.3 14
=1 mass g | E #  standard 72 93 147 235
kg IN—%> 77 L—*f1% with parking brake 88 110 189 277
®M3BEXEREF./M3B Optional capacities
i ® =& capacity (¥ :41Z¥/standard)
model msOERE  max. speed
Vg1 | 195 cm?
nx,max{1,900| min-!
M3B2 : .
e Vg2 | 127]* 116] 106 E'-e-;j—._jjp P Xn =constant
nx,max/2790, 2,930 mafip':alssure
Vg1 [*280| 252 EAREH
nx,max|1,700(1,770 rated pressure
HERE V9,2 | 200 166] 149[*140] 132 [ 115 [ 99 | 93
nx,max]|1,9402,060 |2,110 2,200
Vg1 |%533| 485 | 477 ] 1
nx,max|1,400[1,420 [1,430 N1, max. N2, max.
BE>20 V9,2 | 370 340] 327| 315] 280[*267] 242 214 192 | 178 .
630 1640 HEmSEERE
nXmax 1,58011,630 1,640 11,660 1,700 permissible pressure, speed related
Vg1 |%800| 751| 737| 653
nx,max/1,200[1,230 (1,240 1,300
M3BB0O| /g | 54| 533] 500] a70| 434 420[*400] 369 | 321 [ 267
nx,max]1,380[1,400 [1,430 [1,450 [1,480 | 1,490 1,500

® <% DIMENSIONS

[M3B200AC] A B ¥ [M3B200BP] A
[M3B530AC] ; D@ [M3B530BP] ©
[M3B800AC] [M3B800BP] .
1 I
> 1
F L
o b
—4 s LA A e i
% N R s/ i
xRV r 0
view V
A
(0]
[M3B280AC] N [M3B280BP]
i — = .
w —’ﬂf :i , w | E@
%>ﬁ : r - Br—p j AX—F H| C] (&
T - ort port |
Q SJﬁr 41% M% P K s/ E
% F S | g .
C E le] & (¢]
‘ C = X =7
S % ] <
LP.
Y1 X /size A B © D E F G H | J K L M N (@) B Q
M3B200AP 40 (286 56 |249 200 | 144 70 | 250 | 4-¢22| 75 |2X4,M10-175| 62 | 22 |236| 9 |110 198 | m=2.5, z=16
M3B200BP 40 (368 56 |249 200 | 144 70 | 250 | 4-¢22| 75 |2X4,M10-175| 62 | 22 |236| 9 |110 198 | DP=12/24, z=17
M3B280AC 98 |338 45 1299.5| 200 | 130 95 | 268 | 4-417| 75 |2X4,M12-175| 72 | 25 |[250| 9 | 80 255 | m=2.5, z=16
M3B280BP 33 |405 51 [299.5| 200 | 130 95 | 268 | 4-¢17| 75 |2X4,M12-175| 72 | 25 |[250| 9 | 80 255 | m=2.5, z=16
M3B530AC 97 |389 54 |351.5| 250 | 165 119 | 335 |4-¢22| 75 |2%x4,M12-17.5| 72 | 30 | 300 | 15 [126 289 | m=2.5, z=20
M3B530BP 38 |486.5| 55 [351.5| 250 | 165 119 | 335 | 4-¢22| 75 |2X4,M12-175| 72 | 30 | 300 |15 |126 289 | m=2.5, z=20
M3B800AC | 124 |429 64 |391.5| 280 | 178 130 | 376 | 4-¢22| 75 |2X4,M12-175| 72 | 28 | 345 |16 |133.5| 330 | m=3, z=19
M3B800BP 20 |540 64 | 404 280 | 178 130 | 376 | 4-422|102 |2 X 4, M16-23 92 | 30 | 345 |16 [133.5| 330 | m=3, z=19

permissible displacement, speed related

12



M3B Series
. '|‘£E'|'§‘E/ PERFORMANCE CU RVE OB ARHE T A TEHETT, sHE/0il temperature:50°C

Th | i in th low fi . W . P
e values given in the below figures are mean ones, and not guaranteed ones Y5/ oil V|sc03|ty.32mm2/s
@ 3N=E Mechanical efficiency (%) O =TEMNE 4188 —7 /Volumetric efficiency O NE Mechanical efficiency (%) QZTEME 4188 —7 /Volumetric efficiency
100 ‘ 100 10 100 100 |10
p=30MPa ‘ ‘ _ p=30MPa —
—— g< =20MPa (204kgf/cm? — g
90 | ——F—————-(306kgtiom") % 5= 10MPa (102kgf/em?) psaoMPa s a (204kgflom’) 00| ——F—— (S08kgtiom?) 90 % \_\30Mp p=20MPa (204kgilom?)
> -\\\\ 3 (306kgt/cm?) : > —\\\: ) p=10MPa (102kgtlom*)  {ageiatrom?) c
8 o £ g g E
S o S~ S g0 658 S g0 p=20MPa (204kgf/cm?) S go 6359
195cm3  x© =20MPa (204kgffom?) X' -8 280cm® x5 ~ | x5 §
o 5 L g % 35 p=10MPa (102kgf/cm?) Qo 28
(100%) & p-10MPa (102kgtom®)  BF - (100%) .8 o 25 o p=30MPa (306kgf/cn?) | . L B
i % ; =y
RE w5 p=30MPa (306kgf/cm?) |1 ES RE w5 g £3
28 @we - e £ @e - we
3= Nig £ e PR
60 60 == =15 60 60 == A= 2
| eem=f7 T =477 _p=MPa(204kgf/em?) -=="1 —_|o===""""| p=20MPa (204kgf/cm®)
CIof--==oIIlo——==777" p=10MPa(102kgf/cm?) -————TTTT - —e===T"" p=10MPa (102kgf/cm?®)
50 50 L ===-1 r== ) 50 50 L —===s === 10
0 500 1,000 1,500 2,000 0 500 1,000 1,500 2,000 0 500 1,000 1,500 2,000 0 500 1,000 1,500 2,000
[El$zKE speed min~! [El#x%E speed min~' [El#ZRE speed min~! [El$5RE speed min™
—=10MPa =10MPa
100 100 f102Kgtiome) 10 1
— (102kgt/cm?
‘ 9 100 ;z=30MPa i 100 (102kgf/cm?) 10
f— =30MPa — 306kgf/cm
. 90 \\@gﬂcmz) 90 = /\T Y o 8 o . _— /{ C .
— % —20MPa p= a —
g I 5 Naoakgtioms)  (308kgflcm?) £ g T T ) | py20MPa | p-30MPa £
g 3 £o S — < (204kgt/lem®) | (306kgf/cm?) E
S 80 = S J9 g =20MPa (204kgf/cm?) k] ‘ 9 Eo
3 ~ S 80 6 g S P a gf/em 6
106cm o5 ~l{ S g & 80 & 80 49
59% X \ X% o 140cm3 \‘3% xE ‘ K]
( ) " N \ Mo |, B (50%) T o p=30MPa (306kgf/cm?) g =8
#Z 70 3 70 =488 .S p=10MPa (102kgf/cm?) s A 4 L
RE ~ p:20l\|/IPa (204kgf/cm?) ﬁ( £ p=30MPa (306kgf/cm\2‘) - s\”.‘g %i’ c 70 ﬁg 70 A R E
B3 \ 3 L= -=Z ®s o -1~ -~ %3
2 Ao =~ p=20MPa (204kgf/cm?) =6 E - -
#E 4 p=10MPa (102kglom?)  °5 4o T = My 9 a2 s I | =="[p=20MPa (30dkgiem’)
—==F=2ZdC =122~~~ p=10MPa (102kgficm?) 60 60 --- e -
e e PR —————— J RE— - p:10MPaI(1O2kgf/cm2)
50 50 i P !
0 500 1,000 1500 2,000 2500 3,000 0 500 1000 1500 2,000 2500 3,000 %0 50, 500 1,000 1,500 2,000 2,500
iy - E#5EE speed  min~' 0 500 1,000 1500 2,000 2,500 2 -
[El#xRE speed min~' E#5ERE speed  min~ EI#ZRE speed min
2
@LENRNE /Starting mechanical efficiency €527 IViE /Radial load 100 100 : ; 10
—~ 1,000 R . -~ p=10MPa (102kgf/cm?)
£ (00) i M3B200DH AEICIZZ T TV EIFER TEE R A, | e o [ —
2 s00 A1%5em No radial load shall be applied to M3B200 90 : e 9 8
= (80) y . > —_— \ I~ > AN c
£ 2 600 100% L g I \ 2 p—20MPa  p=30MPa (306kgficm?) | E
“2 0) e 2 80 ~~— ~ g 80 L(204kgiicm) 6%
- (] <
S3 400 106¢m’ 93cm3 X2 —20MPa (204kgiicm?) > © . 2
23 (40 10096 _——= % 8 P g 2 =30MPa (306kgf/cm?) -7 W,
S5 200 “ = [85% (33%) e 70 < #3570 P g =1 485
25 (0 - RS =5 Ik S %3
=0 2 © -
B3 o EE g p=10MPa (102kgtiom?) 5 o =r” == 5‘=20MPa<2ogkgf/cm2>
0 5 10 15 20 25 30 35 -==" S -
(51) (102) (153) (204) (255) (306) (357) —m==mm T === p=10MPa (102kgffcm?)
7£[E different pressure Ap MPa (kgf/cm?) 50 50 [ R — . | o
N 0 500 1,000 1500 2,000 2,500 0 500 1,000 1,500 2,000 2,500
S EETEEXENHE RET-ANEHHEE/Idle & boost-graph @ 1R 451,/ Shaft creep speed EMREE speed  min EEE speed  min~
5 0.1 5
T 51 1.0) o= _ . . - N . i .
§ 61 0 £ Coa QIEEIRNE Starting mechanical efficiency O 7 7 IVIE L S FF ./ Radial load and bearing life
5 4 008 =9 T 1,800 1,000,000 ==
< (40) (0) ‘E ESg < (160) 1002% & N symbole| ¥ | F
o [ 0 t
= 3 A 006 £ E o8 sf? / Zo 1(122%(; 280cm? £ _ B deg.| N
= (30) L 0 L8 ng?2 > £3 // 85% 2< 100,000 ® || o0
Reo 106V Pbs(195~106cm?)  &.& 2% - Z2 800 -2 @ [ 90] 7,000
5 2 < 004 RZ2 X® a5 (80) 100% 7| ° ® | 9014,000
fLK% €0 // L= o s — | 23 ///¢ B Eo 1000 P
oy & - 3 X3 ] 400 —— | ke 180 | 14,000
ES 1 I LA PV o 5 o B 20 2 52 o =t ————10% s = ~785mn
@2 (10 —= 0 RS (51) (102)  (153) (204)  (255) &% é4 B =9 N V=280 cm®
S - : N — - it
%3 — - B L% Pb MPa (kgfiom?) ®a 0 1,000 2 =1.000 min
0 == 0.0 raking pressure 0 5 10 15 20 25 30 35 5 10 40 4 Fai 1B TERFBRGEA
1) (102) (1 204) (2 7 e MR
0 100 o 200 ) 300 400 (51) ( 02) (153) (204) (255) 2(306) (857) [£/1 pressure p1+p2 MPa (kgf/cm?) Regarqmg ¥, Fanda, please.refer
F&E flow L/min ZIE different pressure Ap MPa (kgf/cm?) to the figures of DIMENTIONS in page 12.
W E5255 15, Bearing life & 70 MNsEF e/ Front bearing life @UY#iZ%4 /Rear bearing life O EETHEREHER RET - ZMNENHIE/Idle & boost-graph  @{R$F451%,Shaft creep speed
1,000,000
. . = - e 5 01 = 5
A3 EEREE No=1,000min"' DEXDETEHE (BI0S17)% NTER T 61 (10 §
— \ - =
RUEY, M3B28 = 4 008 £ i3 4
-\ = A R S Lo
FEBEOESZEEN O EEVIXTOHESERIETRICTK \W < o) © g2 -
- o
BHTLESLY, 100000 \\ = (303), 3 Pbs(280~93cm’)— ?6?6 gﬁ We 2 ,/
. . . . T ’ AN kel 93 3 = =
The calculated life(Bro life) shown in the graph is for speed b o\ M3B800- 2 y 1406m® b L7 fo E% ; /
No=1,000min” S £ \) AV E g (202) v // // 004 H5 X5
Calculation of life for a random speed N and a random -2 NN K 3 e /B 0 <3 0
; ; - o O - 280cm 18 0 5 10 15 20 25
displacement is as follows ° =& i - 0.02 Na
: - M3B200 X ES (o) — 002 04 (51 (102)  (153) (204)  (255)
o < —_— X N
Vi N #e £ 10,000 TN bt - B E JFL—*[E Pb MPa (kgficm?)
Lx= 91 . 0 «L HEE( g X ‘t 0 - 0.0 braking pressure
X= Vox N2 0 2 M3B530 N~ 2 0 100 200 300 400 500
,
N\ E flow L/min
\
Lo xS refer to this graph \
V91: RAHULDIIERR max. displacement (G Note) 0 s m s o m
P1: AQIE7 inlet pressure 5y, (102) (408) 51) (102) (408)
P2 : HOE 7 outlet pressure
E 71 pressure P1+P2 MPa (kgf/cm?) £ 71 pressure P1+P2 MPa (kgf/cm?)

14



@® 455, PERFORMANCE CURVE

M3B 530

533cm3
(100%)
267cm3
(50%)
178cm3
(33%)
B
®
E
z
N
R
H
&
o

%

mechanical efficiency

L vES

%

mechanical efficiency

RN

%

mechanical efficiency

starting output torque xR

EETELES pid MPa (kgf/cm?)

idling pressure

@I, Mechanical efficiency (%)

Bl#55%E speed min~'

100
p=30MPa
—_— | (306kgf/cm?)
90
p=20MPa (204 kgf/cm?)
p=10MPa (102kgf/cm?)
70
60
50
0 500 1,000 1,500
E#5®E speed min~'
100 ‘
p=30MPa (306kgf/cm?)
\ \
p=20MPa (204kgf/cm?)
I \\ g
\
70 p=10MPa (102kgf/cm?)
60
50
0 500 1,000 1,500 2,000
El$5®E speed min~'
100
— =30MPa (306kgf/cm?)
90 —
80 ;\\ S
p=20MPa (204kgf/cm?)
70 \\
™~
p=10MPa (102kgf/cm?)
60
50
0 400 800 1,200 1,600 2,000

@i2E)REE / Starting mechanical efficiency

3,000
(300) 100%
/ 533cm?
2,000  85%
(200) /
% 100%
000 / // %gzcma
%
500 - = ———i00%
178cm®
(503 70%

QEATHRRE NEE - RIET—AMNEHHR /Idle & boost-graph
0.1

5 10 15 20 25 30 35
(51) (102) (153) (204) (255) (306) (357)
FE[E different pressure Ap MPa (kgf/cm?)

@
2

™ @ ™
S Cw S»

=
=)

o

& flow L/min

(1.0) ¢

S

0.08 %

0 =
T o
006 $3
(%]
1780m? © 8¢
267cme|  Pbs(533~178om?) gg
== 0.04 1nE
// ’,—"“533 i ©) %E
- cm 17}
// = 002 . 8
(0) N9
e e
=" 0o HE

200 400 600 800

L10 (B&RE)

WS

HOHE REHETIRESFIETT,
The values given in the below figures are mean ones, and not guaranteed ones.

QA FERE S5 —2 ./ Volumetric efficiency

100 50
— —Jr
] =20MPa (204kgf/cm’)

90 40
z p=10MPa (102kgf/lcm?)  p=30MPa -
5 (3086 €
g =
x& 80 30 Jg
© =3
WE B>
®e 70 2088
e S p=30MPa (306kgf/cm?) %3
we
60 |—p=20MPa (204kgticm?) ———==F="—_—== 10
e =XCZ2o==-""7"  p=10MPa(102kgflcm?)
50 o ettt =7
0 500 1,000 1,500
El#z®E speed min~'
100 —(102kgf/cm?) 50
2 ~ 40
) N\ <
S p=20MPa p=30MPa (306kgf/cm?) Eo
S 80 (204kgf/cm?) 30 39
xXE g
o =3
%2 70 2055
Re p=30MPa (306kgf/cm? s
4 S - ©0o
A ©
b 60 [P=20MPa (204kgiiem?) =" = 10
N p=10MPa (102kgf/cm?)
50 Ll 0
0 500 1,000 2,000
El#x®E speed min~'
50
100 (102kgt/cm?)
b p=20MPa (204kgf/cm?)
90 40
>
% /\/- g o
8 80 - 30MPa(306kgficm?) | 30 = 2
xE = P g E]
S £8
= ng=
28 70 20 Wl
5 MPa (306kgtiom?) %3
we -
60 | p—20MPa (204kgf/cm?) =" 10
-oZ3--r7"  ___L--"p-10MPa(102kgficm®)
50 ————=—=" o
0 500 1,000 2,000
El$55&E speed min~'
@5 T IVIELEZHE /Radial load and bearing life
1,000,000 e
syumbole v F
E if& deg.| N
= 100,000 [0 90 0
8 90 | 9,000
o 90 {18,000
= 018,000
2 10,000 ® [180]18,000
E a =70 mm
8 Vg =533 cm’
n =1,000 min"

1,000

5

5

4

min~'

3

shaft creep speed

2y T8

£/ pressure p1+p2 MPa (kgf/cm?)

@ 1Ri54%4/Shaft creep speed

¥, Fald 12BDTERESRLE,
Regarding ¥, F and a, please refer
to the figures of DIMENTIONS in page 12.

10 15
(102) (153)

JFL—XE Pb MPa (kgf/cm?)
braking pressure

25
(255)

M3B800

800cm3
(100%)
400cm3
(50%)
267cm3
(33%)
€
2
E
z
N
R
H
by
B

%

mechanical efficiency

IR

%

mechanical efficiency

e

%

mechanical efficiency

LnREd

starting output torque

EERBRESN pid MPa (kgf/cm?)

idling pressure

@ #IN=, Mechanical efficiency (%)

@HZEIEE Starting mechanical efficiency

El#®RE speed min~'

100
o ——_|_ p=30MPa (306kgf/cm?)
D — \
\§
80 p=20MPa (204kgf/cm?)
p=10MPa (102kgf/cm?)
70
60
50
0 500 1,000 1,500
El#x%E speed min~'
100
p=30MPa
% (306kgf/cm?),
;‘J=20MPa (204kgf/cm?)
70 p=10MPa (102kgf/cm?)
60
50
0 500 1,000 1,500 2,000
El#EE speed min~'
100
p=30MPa
90 — (306kgf/cm?)
80 I~ \\
\ p=20MPa (204kgf/cm?)
70 \
\ p=10MPa (102kgf/cm?)
60
50
0 500 1,000 1,500 2,000

10 15 20
(51) (102) (153) (204)

5
(255) (306)

4,500
(450) 100%
3,500 800cm?
(350) 85%
2,500 /// 700%
250) 6
500 // /éggg/fm
150 — 100%
50; A = — %81}313
(50) i
0Op 5 30 35

F£[E different pressure Ap MPa (kgf/em?)

M3B Series

AR/ oil temperature:50°C
#5Z/oil viscosity:32mma/s

O ETENE-H1EBY—7 /Volumetric efficiency

X

|50

©
o

p=10MPa

102kgf/cm?) ~ P—30MPa

(306kgf/cm?)

X p=20MPa (204kgf/cm?)
40

30

%

20

volumetric efficiency

AR

p=30MPa (306kgf/cm?) P

-
-

SERRN L/min
outer leakage

— 10
=~ "p=20MPa (204kgf/cm?)
____..-——’p=10MPaI(102kgf/cm2>

%

volumetric efficiency

AR

-
o
o

©
o

@
o

%

~
o

AR

volumetric efficiency

fo2]
o

[El#®RE speed min~

0
500 1,000 1,500
El#RE speed min~'
m?) 50
N _—
40
—20MPa p=380MPa (306kgf/cm?) £
204kgf/cm?) 30359
| o %
S‘OMPa(306kgf/cm2) Pt 20 12
-, B0
i T =2
p=20MPa (204kgf/cm?) ¢~ e oo
PG e 10
S P
— - —===T""5=10MPa (102kgtlcm®) | o
500 1,000 1,500 2,000
El%RE speed min~'
‘ 50
p=10MPa (102kgf/cm?
I
40
T \ £
—30MPa (306kgfiem?)| € o
p=20MPa ___P TN 50 5%
(204kgf/c?12) J;%:
30MPa (306kgflem?) -] g2
N, 20 ﬁ%
20akgtiems) 47~
- Ll 10
- b Prd
ToIodT L=t P oMPa (102kgticm?) o
500 1,000 1,500 2,000

OS> 7 IV EE#ZFHS /Radial load and bearing life

s
symbole ¥ F

B
units deg. N
90

L10 (B¥RS)

g

0
90 | 9,000

90 18,000

TN
N

018,000
180 {18,000

[SlS)(@[S)S]

NN

bearing life L10 (hr)

2 G

a =92mm
Vg =800 cm®

n =1,000 min”

(357)

10

E71 pressure p1+p2 MPa (kgf/cm?)

S EATHERE NG R1ET - ANEAHE/Idle & boost-graph @ fRiE4%14,/Shaft creep speed

E frow L/min

5
(51)

4
(40)

Pbs(800~267cm?) |
(30:; 267cm? ¢ _ ,)a
4000m’ A rT

2 7 = ==

(20) -4~ 800cm?
/ Prae - /

1 ==
(10) =

0 0.0

0 200 400 600 800 1,000

V,Falf 12EDTERESRE,
Regarding ¥, F and a, please refer
to the figures of DIMENTIONS in page 12.

min~’

/]

shaft creep speed

)y TE

{7 —ZNEH pbs MPa (kgf/cm?)

min. boost idling pressure

=
HX

JFL—*E Pb MPa (kgflcm?)
braking pressure

=
]
_/
10 15 20 25
(102)  (153)  (204)  (255)

16



17

®L 1L —4—E "'REGULATORS

& /31 Oyl Pilot Control

=
code

R =

control type

R

control curve

BEES LUHFR

function & features

[1]

2BX AT T REY
(e ilEn)

two position negative
displacement shifts

Va1

Vg.2

T

IMEYREDICEY), FOHRESN2BEBEXH T BAES,
INAOyMEH2.5~5.0 MPaDFFE P BETT,

Two prior set displacements are shifted negatively by varying pilot
pressure. Hydraulic pressure from 2.5 to 5.0 MPa shall be provided as pilot
pressure.

: pi
(pressure control type) 1.8 MPa '
21&%%7;?47"@55]@ y
=S HE 9.1 e A — SN AR A S = = Two prior set displacements are shifted negatively by varying voltage.
@ thg‘ );()osition negative v ;'E;{Eéa —Ilj}‘_j:\_;tjz ‘5$&;"gﬁ§h£‘}i?\ii¥;;7 WEHRAET Hydraulic pressure from 2.5 to 5.0 MPa shall be provided as pilot pressure.
displacement shifts b A= D3, aDRaDP L= CY o
(elctorical control type) v
" . e e Aty =0 =N =, - =1 s = Displacement is determined between two prior set volumes in inverse
2N BRI AT T REHIE Va1 ANTAIHELSILT, %&)&Eéﬂf._ZEgFaE]'(E%%EE%‘\LZﬁT{7 proportion to electric current. Hydraulic pressure from 4.0 to 5.0 MPa shall
@ gv_vo Iposition ?egaiiv? Vor HETEET, /NMOyMNEHL.0~5.0 MPaDHEH» DETT, be provided as pilot pressure.
isplacement contro ' e S - Standard set conditions:
| BRERE : ©356mA (1.2 MPa), Vg,1(100%) @ 644mA (3.5 MPa), Vg.2(33%) @ 356mA (1.2 MPa), Vg,1(100%) @ 644mA (3.5 MPa), V.2 (33%)
e | ANBRISEILAILT. FORESN OB RE TR REERIIAT (T D e G [ R e
S e G ’ HIBTEET /S OYNES4.0~5.0 MPaD AN LETY i i ' ST
@ three position negative Vg e ° : : A o be provided as pllolt‘pre.ssure.
: ’ 5 i = . o, o, Standard set conditions:
gERdecmoniicauteh ve.2 RAREE | gg;?gﬁ Eg'g ng’ Kg’l ((;8%°) % 22232 E;i mg%’ 53’2 ((2(3) o//")) @ 319mA (0.9 MPa), Vg,1 (100%) @ 393mA (1.5 MPa), Va.x (50%)
I 0 ' VS 0 » V9, ° ®581mA (3.0 MPa), Vg.x (50%) @ 626mA (3.4 MPa), Vg,2 (33%)
2NBERI T T REYHR
o= | 4 - = G e -
@ t(%ﬂ%utﬁu) it Wt BEEESICL) . FORESNL2REL R T 17 IYBRAET, Two prior set displacements are shifted positively by varying voltage.
d";’:pf;%ﬂxgn?gﬁ'if't\f Vg.2 INAOyNEH2.5~5.0 MPaDHEIA P HETT, Hydraulic pressure from 2.5 to 5.0 MPa shall be provided as pilot pressure.
Y

(elctorical control type)

2WBERIT1T B EHIHEH
two position positive
displacement control

Vg, 1

Vg,2

ANERICIHIL T FORESN 2B ER TCREAEEICRI T+ Tl
HTEET, /N1 O Yy NEH4.0~5.0 MPaDEAEH DETT
EATE - D 100mA (3.5 MPa), Vg,2(33%) @ 509mA (1.2 MPa), Vg,1 (100%)

Displacement is determined between two prior set volumes in proportion
to electric current. Hydraulic pressure from 4.0 to 5.0 MPa shall be
provided as pilot pressure.

Standard set conditions:

@ 100mA (3.5 MPa), Vg,2(33%) @ 509mA (1.2 MPa), Vg,1 (100%)

BRI TATREFIM

Vg1

ANERICHEBIL T FORESN/IBRER TERELERICRI T4 T4l

Displacement is determined among three prior set volumes in proportion
to electric current. Hydraulic pressure from 4.0 to 5.0 MPa shall be

M3B Series

M3BE—42DLF 1L —%2I3 AF/ZIBR—FOSERIDENEE
RUMEEILE T, 72720 2MPall F TR A TEEHAD T H—K

EEHIGTRLENHIET,

7o REYRBREERT 3ISEN Y — AR HIAT L E
»HNEY (THSR)
M3BE—2 D/ N1 Oy MEIEIEBIZ/ SA Oy b = REE X HT ATk

aO—JLLTWVWET,

O—RNo.2-4x AT 1T B EHIME . ERYNRAE /IS ERLLHFIFH
EERALEWTER/ MM OYR2REEHHIEL TERT32ED

TEEY,

BEHIEEEER (AT 21581, Fo/N1OyMEEEIT NS E
ESELTHRENBIET,
LH BN /N1 Oy MIEHEEELBRINET,

I—KNo.b,cDBEVEI L AT/ IEBR— OB ERDEHERIR

UFEEILET,

F T aF IVEEREE L T A BR—MDZEE I p1-p2l fikft (B3 {E#%
RY) TEETALXL—2HHVET,

CHEDHZEIFITHEREZ,

(Note1) The regulator in M3B motor operates choosing the higher
pressure port between A and B port. If the servo pressure
does not hold more than 2MPa, servo pressure must be

—

(Note2

provided.

If you need to shorten the time of shifting displacement,
proper servo pressure must be provided. (Refer to below fig.)

Pilot control section in M3B motor controls pilot second pres-

sure negatively.

Negative displacement control of Code No.2-4 may be con-
ducted by providing pilot second pressure directly without us-
ing solenoid operated switching valve or solenoid operated
proportional valve.

(Note3) Small displacement instruction must be provided on the pilot
control side before using automatic control operation. Auto-
matic control operation precedes pilot control operation.

(Note4) The automatic controller of Code No. b and ¢ operates
choosing the higher pressure port between A and B port.

77 ° - —_ (4D 150 < | J
three position positive vox| @ @ BTEEd /M AYNES4.0~5.0 MPaD s LR TT . g{ovge%astpllot g.rtgssu.re. The regulator operated by the differential pressure Ip1-p2l is
displacement control Va2 o ZHFE ¢ @ 156mA (3.4 MPa), V9,2 (33%) @ 244mA (3.0 MPa), Vg.x (50%) @?26?]: A?g 40&”P;>'°339'2(33°/) © 244mA (3.0 MPa), Vax (50%) also available as optional function and if necessity arises,
r y n o i y 5 )
| ® 469mA (1.5 MPa), Vg.x (50%) @ 539mA (0.9 MPa), Vg,1 (100%) ® 469mA (1.5 MPa), Vox (50%) @ 539mA (0.9 MPa). Vg,1(100%) please contact us.
@ EE)F#,/Automatic Control
- /4 [ /4 —E\ i i i
a—K ST SR e e _ O£ L1EERRFRETilting time, pressure related
code control type control curve HRESLUHER function & features 5 s
BEhHIEREREL L Sal. o M3B200--| T o
@ without automatic control % N Vg:116=>195¢cm3 %2 .\ Ver10050%
Vg.2 P A= £y Z LEren < - e During small displacement operation, when the load increases and the 2 i = @ . ~M3B800
S —hr R P2-1f-->y; NEETHEA l“—(l’\%’i%?‘\‘"_‘ ﬁﬁﬁ)‘*%(EétFﬁE@EﬁTEQE‘Jkke pressure reaches to a certain point, the motor shifts into large displacement 4 %2 . 'MSB260 N %_f% ]‘/‘ Lo
@ SERVENGE GEImiie] BICYVEDNET  ZOBR FIEDEHICTIHEIETCAKBELRELET, operation. Since then the motor maintains the large displacement operation 4 € V01955 1160ms—— - =) S
q pi-2L/- L e S - until the pressure declines to a certain point. 551 LTI | EE MSBSSO/‘ . :
v RHEE [ p2-1 =25 MPa, p1-2 = 4.3 MPa Standard set conditions: P2-1 = 25 MPa, p1-2 = 4.3 MPa { VePSE L M3B2s0 |
P _ - . - ol
EH—Esla BEICIEUTAEDENICED LD PEALET FREDES Displacement varies in order to maintain the pressure in line with the load. 0 (5) (10) % (5) (10)
. Ll Vex > d NeE by d WE (A The motor maintains small displacement operation until the pressure increa- 51 102 51 102
@ ggztsrtglm LSREEE P Vg.2 ver uTF:(u/J\ﬁi‘ TRULTIRRRILIET, ses to a certain point, and then shifting into a large displacement operation. [£ 71 pressure P MPa (kgf/cm?) [£ 71 pressure P MPa (kgf/cm?)
: T 1ZHEERTE © p2-1 = 25 MPa Standard set conditions: p2-1 = 25 MPa
BRI IR B BIRER T4 . .
Solenoid operated switching valve specifications Solenoid operated proportional valve specifications € M3B200 AiL ¥ 1L —%,/M3B200 Regulators 4 M3B280,530,800 AL-¥ 2L—%,/M3B280, 530, 800 Regulators
B=ERES 13.7MPa L& aL—43-FNo.
max. pressure el BEEAEH (#EBIE3OMPa)  |code No. 1a 1b 1a 2b 2c 3c 4c
max. pressure (3.9MPa in case
Et;'ﬁi';i/c,f_l:tage DC24V — of inverse proportion)
FIREE ST S e E—
%tﬁlﬁﬁsﬁming =17W (24V, 20°C) rated electric current 700mA DR !”“\
electric power RS — ; ]
BEIRTZ =%E1§ Z02M-GY(2P)  recommended 80Hz/200mAp.p EFEE SH""; |
standard connector | Mitsubishi Cable Co., dither power circuit | S k) (g —
e AT (VIEHIE - diagram Bum )
o %7 24K/ connector shape coil resistance value | 17-52 (20C) g }
_ PEEEO SEBR 202MGY (2P) e a

===

(=) Y — FigHE

cable color blue,

standard connector

Mitsubishi Cable Co.,

() 1) — FigHRE

cable color red

18



® E—4#IEBAZTE/INIL T VARIOUS VALVES to CONTROL MOTORS

BEM3X,M3BYU—XE—FICIF. E—FEEETSVIICE

BEOR I AR EERIE) L T ZARLTVET,

(GF) E—R2ENVTOMAEDRICE-TE BRI LM BLETT,

M3X/M3B series, are available.

fEBlakO—JL/NIVT /Swing control valve

@KSC19

FII Y=/ TOiEE I O—ILINLTTY,
Swing control valve of neutral free type.

NIV 7 E#/ Valve specifica

tions

== ERES
rr:r;(]. pressure 30.9MPa (315kgf/cm?)
rated flow 200L/min

A )Y =T RREENEE
set pressure range of main relief valve

14.7~30.9MPa
(150~315kgf/cm?)

HBE2 L VEE 2
allowable back pressure Bl (ke
N8y NES 0.29~2.51MPa

pilot pressure

(3~25.6kgf/cm?)

@KSC19L

Pa,PB,Pia,PiB,PP:G1/4
P,PG,R:G3/4

R TYU—EOyIZ YRR Al iEm I ~O—)b

NILTTY,

Swing control valve able
free and lock.

to switch neutral

JNJV 74/ Valve specifications

e ERES 2
max. pressure 30.9MPa (315kgf/cm?)
rated flow 200L/min
A )Y =T FRERTEE HEE 14.7~30.9MPa

set pressure range of main relief valve (150~315kgf/cm?)

MRS UBE
allowable back pressure

1.5MPa (15kgf/cm?)

RT=IWRT) LT (71)-) 0.5~1.6MPa
spool spring force (free) (150~315kgf/cm?)
RT=WZTYTh @y 7) 0.5~2.4MPa
spool spring force (lock) (5~16kgf/cm?)
K= MU= TR EBES 2.5~4.9MPa
switch operation pressure of port relief (25~50kgf/cm?)
7')—F— MR — ~Pio)EH | (Pio)max.+

pressure for free mode switch port (Pio)

2.9MPa (30kgf/cm?) Ll E

EREFEB 4%/ Solenoid valve specifications
= fEAESN 2
mz;(]. pressure 8.3MPa (85kgf/cm?)
V-8 36¢cc/minkl
leakage (at 28cst, 2.9MPa (30kgf/cm?)
v/ NEREE
solenoid rated voltage bC24v
EREEZEENFE -
voltage variation range 20.4~29V
Y—I%5—ff& with anti surge

Pa,PB,PA',P8',Pa’, Pb', Pia,Pib, Pio,PP: G1/4

P,PG,R:G3/4

PiB-

211 |

211

M Various control valves, attachable direct to flanges of

(Note) Some combinations of motors and valves need conversion plates.

R
| | °
A s
9 al ‘@J‘(@i{ i Pia
e 3 7,?—1» <1 Sk T L
Pe 2 SHESTS
75 hydraulic symbol
112
Pp Pa 77%
|
& CTepR
T &l
Pa,PB
3
P _Pa
AT —
il e Ps  Pp PA'
:; ] - Pib pu \“ . \| P o Pia
0 013 :
: : §
191 191
JBERS
frh | oih
@) v
Pib (] ) Pia
N~
& i | IINE Eg
e
I \\'ﬁ o ===f e o f\
Py - Pa &
= | —_—
= BMJ l'AM
8-M12 Ae:s $35
496
4: PL
v
. RIS .
= 5 ) B =ci
T [ \Fﬁ
BN/ ZAM hd
5 ORE = = 1
) "ﬁ:» "\‘1/ |
Pio PB AN PA
75

M3B Series

D1 FBHIBRINT 2 ZXINIVT / Counter balance valve for winch

€KDC28MR
ERE—4:M3X/B 200
Applicable to M3X/B 200

NIV #/ Valve specifical

tions

e ERES
max. pressure

34.3MPa (350kgf/cm?)

RAMRE
max. flow

350L/min

2X4-M10XP1.5

b1

1) =7 REREES (30L/minks)
set pressure of relief valve (at 301/min)

14.7~30.9MPa
(150~315kgf/cm?)

MOy~ TTyFRTERN
cracking pressure of spool

0.7MPa (7 kgf/cm?)

FrvIRITVXTED
cracking pressure of check valve

€KDC30MR
BRAETE—%:M3X/B 280,

Applicable to M3X/B 200,

NIV #/ Valve specifical

0.7MPa (7kgf/cm?) L

530, 800
530, 800

tions

A
B

ey
]
<
N
M
M

’\

G1/4

—
. 7o)
—

a M10XxP1.5

T

it

al,b1
G3/8

2X4-M12X1.75

ﬁfﬁ%ﬂfﬁe 34.3MPa (350kgf/cm?)
fz;sz&i\;v 500L/min T
YU =T FEERES (30L/minks)
set pressure T (at 30Lmin) | 34-3MPa (350kgf/cm?) 53
NAOYRT5 9% TER i
cracking pressure of spool 0.7MPa (7kgf/cm?) % A
FroIRITvR LI ES ‘*[
cracking pressure of check valve 0.03MPa (0.3kgf/cm?) AM 3
BM
‘Gf o AFE/A type
295
BM , |AM al bl 70 164
| G3/8 2X4-M12x175 42 80
- ‘ 110 D 31.8™0°
b x——? . N, at
| | o
j —— W T
‘ 4 ca I C - r 8 AL
—(= 22 +
B A i ¢ 3|3
SHERS o B> ' B @/‘\
hydraulic symbol g | © A | o M12XP175 | ‘I .
& e Eéq ==4rg* ~T-0 [}
AMqEL;*_ - .’_’_T_';a a e}
BM 1 G3/8 3 T
L l.15 o AXHz/AX type
ADBE) &V TY,
9KDC40MR Reverse connection type of A type al
BERE—4:M3X/B 530, 800 a1 G1/4
Applicable to M3X/B 530, 800 41 202 / 98
. . e . 125
INJVT 4%/ Valve specifications 3687 100 /51
BeERAES .
34.3MPa (350kgf/cm?) L\*\
max. pressure i 150 | © @.F:[@ _] I
AR 780L/min s
max. flow H <§ B ' C}A & |7 H
) =T RRARE . i &
max. flow of relief valve 300L/min R & l |/
Y=~ THEEEN (0.4~0.6Limink5) 3|8 ¥
set pressure of rlif vaive (at 0.4~0.6Limin)| 27 -5MPa (280kgf/ em?) _ S
— = — z= 2X4-M16XP2.0
NAOY T Zy X TESR i =
crackiné pres7sujre o?spool 0.69MPa (7kgf/cm?) % gm;—gg— = g E -
: 1 \
FroIRITvRLTES e N C e
cracking pressure of check vaive | 0-03MPa (0-3kgf/em?) S — _E!: R
b1
22 129.4 ! M16XP2.0 Gi/4

20



EITHAI 22352 Z/NIVT /Counter balance valve for driving

Be

FIERDOYavIZEN CEDYav IV AUU—
TN TZRBLULTCVE T, Fle. E—5F DA
JU—F%& NIV T TEEERULE T,

Built-in shock-less relief valve enables
smooth deceleration. This valve also auto-
matically releases negative break in motor.

4B25C

BRAE—%:M3X/B 530, 800
Applicable to M3X/B 530, 800

JNJL7HEHE/ Valve specifications

ERTE
rated flow

240L/min

RAME
max. flow

350L/min

meEAES

max. pressure

30.9MPa (315kgf/cm?)

V=T REREEN
set pressure of relief valve

Ps=30.9MPa (315kgf/cm?)

RT—IVEHAES
spool shifting pressure

FREAET
cracking:0.91MPa (9.3 kgflcm?)

BEES
reseat:0.78MPa (8.0 kgficm?)

4B35C

BEHAE—%:M3X/B 530, 800
Applicable to M3X/B 530, 800

JNJL 7/ Valve specifications

ERTE
rated flow

380L/min

RARE
max. flow

500L/min

== ERES
max. pressure

34.3MPa (350kgf/cm?)

D —TREEEEN
set pressure of relief valve

Ps=36.3MPa (370kgf/cm?)

2T =IVGHRES
spool shifting pressure

ROES

cracking:0.78 MPa (8.0 kgflcm?)
BEES

reseat:0.69 MPa (7.0 kgflcm?)

21

| ]
A 1Y ]P
A1‘ T TB1
‘j%‘r’:,ll Hi% |
ﬁ,,, kli’f LF”
AV BV
SHIERE S

hydraulic symbol

153

123.5

196

8-418

2-450

P1
RC1/4
2-440  $15
AM I?‘ _BM
R ——
f i 1 | [ | — N
,'—1':1,»,' 1 i ! ! 113
L —
d e —
~o__ iy T ——
e R e
¥ ’:1:’"::’ I
N S
A1l B1
2x4-M12
H @
\3 <
a
N OIS S
|~
[t}
N~
8]
A1 75 B1
G1/8 G1/8
303
AM i BM,
p N |7 il N A
| i H ! i
g P1 T ¥
5 /an :
-
\J
S © —
L/
[ eyl |
B ==
A1 B1
P1
9/16-18 UNF
2x4-M12
400
31,802 /
3 OO O+ ©
TR oA A
H
i AV | | BV
R -
- O DD/ T
d OO WU T =S
) )
T 290 I
EE= @) -1
) J \V |
1 [ o
9/16-18 UNF
B1
102 9/16-18 UNF
407

759> 1N )v7 /Flushing valve

I 0—AREEE TIRER—NCEENZE Fv—
L. ERORE LR Z/HIELET .

This valve charges the low pressure port
with working oil in closed circuit and pre-
vents rise in temperature of the working

fluid.

@FV30

JNILT 14/ Valve specifications

R=ERES
max. pressure

37.8MPa (385kgf/cm?)

RAME
max. flow

275L/min

== U—TREESD
set pressure of high pressure relief

34.3MPa (350kgf/cm?)

&IE Y —TREES (70Uminks)
set pressure of low pressure relief(at 70L/min)

1.8MPa (18kgf/cm?)

2T —IVIEEES
spool shifting pressure

2.0MPa (20kgf/cm?)

()
av ~ em|
jj== — |
[
j S S E
T YT il
AV BV

HMIERS

hydraulic symbol

M3B Series

P
11 |
31.8 : ‘
IR
g /@ *@ (T;3/4
- 2
BIPI ARTR - Sons = (5 .
8 N\ev\l/ L g
¢lo/@
8 4k @
a2 wyNp )
o AVKJ o= 9
. |
PA " 75 92
115
250
3

Frv5:70v% /Check valve block

FrET—YaVEBRLETRHICERLET,
This valve prevents cavitation.

PA,PB
G1/4 A

JMERLS

hydraulic symbol AB,A1,B1.C:G

®VBS-199
JNJVT1#/ Valve specifications
= ERAES >
max. pressure 34.3MPa (350kgf/cm?)
BAME i
max. flow 780L/min
FIvIRIIVERTEN
cracking pressure of check valve 0.03MPa (0.3kgf/cm?)
«
w
(<2}
=

$40

22



23

REET 7 F v IVEAN Y E—

Axial Piston Motor with Reduction Gear

M3X/M3B-RG series

@® {14E.SPECIFICATIONS

. M3X280-RG06S6.4 | M3X530-RG10S5.7 | M3X800-RG16S6.4
7 i M3X200-RGO3SS.7 I\ 138280-RG06S6.4 | M3B530-RG10S5.7 | M3B80O-RG1656.4
# L DB TE/ displacement cmd 149 252 533 800
E 1& HE 71/ rated pressure MPa(kgf/cm?) 21.9 (223) 20.6 (210) 20.6 (210) 19.6 (199)
& = [0 & & &/ max. speed min~! 270 190 150 130
R A % 8. max flow L /min 230 310 450 670
ISR MV Y / theoretical output torque N-m 2,930 5,280 9,870 16,000
W ¥ b gearratio 5.65 6.40 5.65 6.4
% ffi ¥ £/ total displacement cm?3 840 1,610 3,010 5,120
AT UTIVIE / allowable radial force L 58,800 88,300 118,000 157,000
i & fI &/ load point mm 89 95 113 126
& £ ./ mass kg 98 150 243 420

WERTES  RECERRE(F . HREDIRIC RS O TREDE I,
BREDRENB0CZEMZ IEV\ER CTERALIEE L,

WU VFE-I DL I EREGRBDEVAETE. &
DEEES] ZEOELREZBA TERATDIENTEXD,
ERAREZISHETTTEREIEE L,

W#imICERIT 2SI 7 ILEEWIF. FEEOXNTEHRULTL

a1 AN
2 X TX 103N T:®HHEA LY Nem
= m X Z X cos O m: € a2—Jb mm
Z. &w B
o-EhAE deg.

BRICRIFBESI7ZIVEER BN TSV IENSHER
IDFTOERICKDRELET -

® i5F5E55,BEARING LIFE

BAREEEERESOmIn~  HEEAR L (RTISAVEN
EIEDHR) DEEDEZRLET .
10,000

B Max. pressure and Max. speed are determined by RG
specification. Please make sure the temperature of the RG
shall not rise beyond 80 C.

M If the motor is used for the short operating periods such as
used as winch motor and so on, the operating conditions
may be beyond the rate pressure or max. speed men-
tioned above.

In this case please inform us of the specific operating con-
ditions.

M The theoretical radial force W acting on the driving shaft is
calculated by the following formula.

2 X T X 103N T ! theoretical output torque N+m

m: module mm
m X Z X cos Z : umber of teeth

QL standard pressure angle of cutter deg.

W =

[l Allowable theoretical force shown in the table depends on
the distance of load center from mount flange.

M The life obtained in this graph is for the speed of 50 min-!
and the load point of § (spline center)

8,000 |---

6,000

L10 (RHRS)

4,000
3,000

2,000

bearing life L10o (hr)

25

1,000

0 4.9%10*
®)

9.8x10*

14.7x10* 19.6x10*
(10) (15) (20)

ECHhHPBTITILETE  N(ton)
radial force acting on the driving shaft

(F1) HFal BEREICREFILET,

(iF2) QDEDPKELBEHHIIETLET,

ZTOMOFEEIR

(1) WERER EREAICLNEDIET,
LHETHMOEDE S,

GE2) FYFAIVIEAPIY —EX B FEGL-3B L LGL-4HEEDHDEZE AL LS,

(Note 1) The bearing life is in inverse proportion to the speed.
(Note 2) If 0 is larger, the bearing life becomes shorter.

Other caution

(Note 1) The life of the gears is influenced by the operating pressure.
Please consult us, if necessary.

(Note 2) Use gear oil equivalent to GL-3 or GL-4 of API classification.

@® ~Ii%,DIMENSIONS

M3X/M3B-RG Series

AFR—k BFR—k

A port B port
..... Q \ $R
[M3X ¢35 -RG] ~ -
A B1 I B2 9'Eﬁ\‘/’
view =
- e ; \ s
C > |
-~ E
-G
] - L
- - l"l jr,
i T - %L i
T e |
' 3
T ) 3_|
s = o1+H— ‘
-+
|
i v
i _f T
Bl 3/ IN—%TTL—%
" parking brake
IN=X2TTL—F1F
..... fit with parking brake
[M3B ¢33 3%3% -RG] v
A B1 ¥ B2
- > —
<C . E ™
-G o)
\ ‘ !
-F BT f I 5 o o
[ ?lQ ‘73’_ Fhl Ts z i :'_:l':__
r T i ©
H | B— i : i D
# L — = HyX< I T
T Rl t?: Wt \ @) | 5@
A Y @1 | j ==H= an y ]] ] _
I IE:)=il: s © e
—— = \ 4
21s] | | | ] 73 QJY-,S g @ @
— ]
, g =% g TL—%
parking brake
IN=F2TTL—%%KL
no parking brake
(mm)
1 X /size B1 B2 © D E F G H | J K L M N
M3X200AP-RG03S5.7 43 | — 85 | 405 | 13 60 22 | 360 | 26017 | 268 | 122 103 — 320
M3X280:xP-RG06S6.4 501 569 463 —
M3B280P-RG06S6.4 20 | G 95 | 11 14 70 25 | 394 | 320f7 | 318 | 130 117 055 | 360
M3X530%P-RG10S5.7 550 550 513 —
M3B5305P-RG10S5.7 e | o | 0| e | B 81 30 | 480 | 330f7 | 415 | 165 154 ogg | 450
M3X800AP-RG16S6.4 586
M3X800BP-RG1656.4 623 | 739 | 108 | _oo | 20 75 | 179 | 460 | 380f7 | 460 | 178 169 — | 424
M3B800AP-RG16S6.4 618
M3B800BP-RG1656.4 655 | 771 | 141 | o0 | 15 | 114 32 | 570 | 390f7 | 464 | 178 169 332 | 520
HA X/ size (0] P Q R S T
M3X200AP-RG03S5.7| 6—422(6X60°) | 75 | 25 | 72 | 2X4—M12x175 Tjé% 2 12)0
M3X280:%P-RG06S6.4 _ . _ m=2.5, z=20
M3B280:P-RG06SE.4| 10~ #22(10%36") 75 25 | 72 2X4—M12X1.75 (JIS D2001)
M3X530:%P-RG10S5.7 _ . _ m=3.75, z=26
M3B530P-RG1085.7| 12~ #18(12X30") 75 30 | 72 2X4—M12X1.75 (JIS D2004)
M3X800AP-RG16S6.4 | .. . 75 30 | 72 2X4—M12X1.75 m=3.75, z=29
M3X800BP-RG16S6.4 | 16 #20(16%2257) | 405 | 35 | 9 | 2xa—Mi6x2 (JIS D2001)
M3B800AP-RG16S6.4 _ . 75 30 | 72 2X4—M12X175 | DP=6/12, z=26
M3B800BP-RG16S6.4| = #22(12X307) | 405 | 35 | 92 | 2xa—Mi6x2 (SAE)

M3 —RE—EDTFIITIE HtHhy 285 2F KDC3OMR.

TL—%7# B25CHENERTEET,

Counter balance valve KDS30MR or brake valve B25C is
directly attachable to M3 series motors.

24



25

TR 77 F v IVERAN Y E—S

Swash-Plate Type Axial Piston Motor

K3X Series

® 15K FEATURES

SRR - — IR R L CENEREZEBHDKIVIK
Y 7DO—5URERTBTELEOT BNIHREBE
BHERRLTVET,

2. FVTNVGEHE

HiRICSI T I EEZRE T HIENTEXT . L. B
RHEMIFEFLET,

3. #h LM E TEMPIRE

EEEhh LEEDRETEAT DIcHDRU Y IR—NefE
ATVET,

® XX~ ORDERING CODE
112] [s]-[1]

KX )—X

K3X series

H1 X size
63 : 64cm® 90 : 89cm®
80 : 82cm?® 112 @ 111em®

KXYU—XI&. @2 - —REFREMAR TEUTER

BERFEZFOKIVIY—XDHEIliZE B EIC, —RREREMAN
DEAZED oI VU —XDE—FTT,

The K3X series are newly developed motors for industrial
machinery.

The design is based on technology and experience of

current K3V series for construction machinery or indus-
trial machinery.

H AR - #FZIR power code, shaft code

0 :{Z#HN *—#h/standard type, key  1Z#/standard

1. High Efficiency and Reliability

K3X series has high efficiency and high reliability by using
common rotary parts of K3V Series pumps which are used
widely for construction machines and have many years of
experience.

2. Allowable to Apply The Radial Force

The motor shaft can withstand radial loads. But in this case,
bearing life decrease.

3. Allowable to Use on Upward Motor Shaft Position

The motor has the drain port to be installed with shaft
vertical.

fis &

£ S| hRfE
M Im marks | oil temperature range remarks
‘ V2 | -20CS0=90C |ty hero e
BELH V1| -20C=0=90C |TH AT
Tl 1-20c=6=90C
D1 |-30C=6=90C
D2 |-45C=6=80C
NIVTHN—-a—REE SR (AR—MSE. #hixL) BT

valve cover code and direction of rotation
(A port :high press., view from shaft end)

X
oil temp. code

1 ZEHA AR 2—RRT 54 28/ standard type, involute spline 0 : X7Yyh77 Y. FEER/ split flange and clockwise rotation 12 /standard
5 | SE{HE. X —#h/high power type, key 1 1 ZALyRT752 Y AEER/ thread flange and clockwise rotation
6 @ EREAE. A RY1—bXT 518/ high power type, involute spline 2 1 27VyhT7F Y ERE/ split flange and anti-clockwise rotation
. 3 1 ALyRTF2Y £EER/thread flange and anti-clockwise rotation
~iE _
. 7 /DIMAENSIONS a c | € Main flange
[M3X112S] B L ZT)yhEAT ZLyREAT
[ il | split type #K thread type ¢Q
itz —_ —_
J 2 T e
o T 9
| = S S — o
o L o
t ° oo 7
E I = =
G T.o
- (mm)
H1 X/ size A B C oD E F G H | J OK L M N (6] P Q
K3X63 146.5 | 1145 | 198 |127 12.7 14 55.5 | 234 102 91 16 M10 66 23.8 | 50.8 66 |SAE3/4”1-1/16™-12UN-2B
K3X80/90/112| 202.0 | 161.6 | 234 | 152.4 | 9.0 17 75.0 | 276 | 113 104 20 M12 75 | 27.8 | 57.2 | 70 |SAE1”1-5/16"-12UN-2B

@® 14§, SPECIFICATIONS

K3X Series

. 1Z# % standard type =it high speed type

7 =5 el K3X63 | K3X80 | K3X90 | K3X112 | K3X63 | K3X80 | K3X90 | K3X112
L ODAETE displacement Vg cmd 64 82 89 111 64 82 89 111

pressure E 1% rated 31.4 (320)*! 31.4 (320) *! 31.4(320)*?

MPa(kgf/cm?) &R = max. 34.3 (350) 34.3 (350)

&= O %R E /max.speed  Nmax. min~'| 2,400 2,200 3,000 3,000*2
& K & 2./ max. flow L /min 152 181 200 244 153 247 268 333
E #& b JL 7/ rated torque N'm 316 411 450 554 255 411 446 554
E & B 75/ rated power kW 79 95 100 128 80 129 140 174
r— XA A E / case volume L 0.3 0.5 0.3 0.5
GD21#& / moment of inertia N-m2 0.3 0.6 0.3 0.6
B £/ mass kg 23 40 23 40

*1 K3X63SDx—# T D5 A EIREHI$24.5 MPa (250 kgf/cm2) £4VET
For K3X63S with key type shaft, rated pressure is 24.5 MPa (250 kgf/cm?).

*2 fx i MR E 3,000minT TEAIN 31548 IFERE T3 25.1 MPa (255 kgf/cm2) (2. TE&EF131.4 MPa (320 kgf/cm?) TIEFEh 3158 &S R EI$2,400min &AW ET,
In case that the motor is used at the max. speed of 3,000min-1, rated pressure is 25.1 MPa (255 kgf/cm?), and at the rated pressure of 31.4 MPa (320 kgf/cm?), max. speed is 2,400min-1.

@ 488, PERFORMANCE CURVE

[K3X112]
Q%I Mechanical efficiency (%)
100 :
3 — p=30MPa
f = [—
o — T ———_| (306kgf/cm?)
£ 9 —
O O
X = \\\ p=20MPa (204kgf/cm?)
-2
BS e [ p=10MPa (102Kkgiem?)
£%
e
70
0 500 1,000 1500 2,000 2,500 3,000 3,500

E#5%E speed min~'
@HZEIE Starting mechanical efficiency

E
5 600
= (ggg 100% |~
£
Z8 (0 &
S 400
Y =
£3 30) =
CEN L I
BE jo0| =~
s (19
5 10 5 20 25 30 35
(51) (102) (153) (204) (255) (306) (357)
FE[E different pressure Ap MPa (kgf/cm?)
@ 1Ri%45M4 /Shaft creep speed
5
]
- 4
.‘S?) //
Eg 3
a /
W 2 -~
N5 /
25 !
K& o0
0 5 10 15 20 25
(51) (102) (153) (204) (255)

JL—%E Pb MPa (kgf/cm?)
braking pressure

W #5556, Bearing life

JHpE/oil temperature:50°C  #5E/oil viscosity:32mma/s

L10 (B%RS)

WS

@ EFERE/Volumetric efficiency

RO EEI ARFMETIE AL TFHIETT ./ The values given in the below figures are mean ones, and not guaranteed ones.

100 T T ]
T [ —
: | = T
o % — X ‘p=20MPa (204kgt/cm?)
o2 \ 1 1
c\“@g p=10MPa (102kgf/cm?) p=30MPa (306kgt/cm?)
s
=g 80
i S
we
70
0 500 1,000 1,500 2,000 2,500 3,000 3,500
B#5%E speed min~'
T  OERSFTHEXENHE RET-AMNENER  Idle & boost-graph
S 5 04 ¥
5 (61) §
= 4 03 2
& =4
£ w i g
e} 3 7 02 =3
S (30) ' pid P
-, pi 25
Reo 2 e 0.1 Q9o
iHTi 2 (20) PR Rr2
FAE === 00 H5
= o (10) — X Q
o | o
BE 01 L8
#o 0 100 2 300 400 W
g flow L/min % g
@5 7 IIVHELEF S/ Radial load and bearing life
1,000,000 ==
N sy:'nbole v F
E unil\s deg. N
< 100,000 | ® |9 0
8 ® 90 | 5,000
o ® 90 [10,000
= @ 0 [10,000
2 10000 |— ® |180 (10,000
g [ a =42mm
2 Vg:111cm3_ B
1,000 n =1,000 min

5 10
£/ pressure p1+p2 MPa (kgf/cm?)

€70 NZ3F4 / Front bearing life

AR EEEE No=1,000min ' DEEDFHESH & 1,000,000
(B10Z17) &RLET, =
FEEOBRGZEENTOHESFGIETRICTRDT *
{FEELY, S € 100,000
The calculated life(B1o life) shown in the graph -2
is for speed No=1,000min"’ 2
Calculation of life for a random speed N is fﬁg
follows. B S 10,000
N ~ #3
L=No 1o <Lo: No?@?r%%ﬁ)
calculated life for No
(3% Note) 1.000
P11 AQES inlet pressure (51)

P2 : HOEF outlet pressure

10
(102)

40
(408)

[E 7 pressure P1+P2 MPa (kgf/cm?)

40

V,F a3, 25 B O AERESRULE,

Regarding ¥, F and a, please refer

to the figures of DIMENTIONS in page 25.

@) VEIZE4 /Rear bearing life

1,000,000

100,000

L10 (B%RS)

A
K3X112

10,000

bearing life L10 (hr)

WMZHE

A

1,000
(51)

10
(102)

40

(408)
£ 77 pressure P1+P2 MPa (kgf/cm?)

26



27

B{EE5E “OPERATION PRINCIPLE

ANICRYED. BERNAOR—K (a) Z@>TIYYFT
OvZ (2) ITRATHEERNY (4) ISHEADDMERLT. 8
BRICHFBFEELET . COHFIE. Ya1—(5) ZNT LT, #{iR
(7) [CEEBAF & HICEABBIOAF2(CNTNUHTE
ENET . COF2ORARBBERNZNLTYUYFTOYT (2)
[CIEEESN. HAEMEDICEENZEHRESEETT,

YUYFTOVIICIFORDERAM Y DBERIENTHED. &
EHDAOR—RIEBL TVDIEMADEZARVICKDIER
HBAECEENLIMEESNET T

SHMDHADHOZEICT DE HABMDEEHECEDTT .

EHIREAINVITIE R TEZSNET

T : EFRHEANLY Nem

XV
T=APXVY AD: BHEE MPa
e Vg I 1EE&LDEE cmd

1 N'm = 0.10197 kgf-m

As shown in the right, the high pressure oil passes through
the inlet port (a) and flows into the cylinder block (2).
Hydraulic force thus acts upon the piston (4), generating an
axial force F. This force F is vector-analyzed through the
shoe (5) into force F1 which is perpendicular to the swash
plate (7), and force F2 which is a vertical force with respect
to the output shaft. The reaction force of force F2 is
transmitted via the piston to the cylinder block, generating a
rotational force which turns the output shaft.

These are 9 equally spaced pistons in the cylinder block.
The pistons connected to the high pressure inlet port
transmit rotational torque sequentially to the output shaft.

Reversing the flow of operating oil causes the output shaft
to rotate in reverse.

The theoretical output torque (T) is obtained by the
following formula.

_ApxVg
6.28

T :Theoretical output torque N+ m
A P: Effective pressure difference MPa
Vg : Displacement per revolution cm3

T

1 MPa = 10.197 kgf/cm2

)/ \o—:'\:ygjl/—:\:(zl'j’/ay)/PARK'NG BRAKE (Option)

CDITV—FF RAT 4T 51T (BRIF T —FDMEEL
TLVBHHEZHIET DEMREIND) DBVEX T —FT
J. IU—FERFE—HFDT—YVIALEBLTHED. JUTY3
VIV—RERUVVHRICK S THRAENE T,

JU023vTU—k(04) CIERRTS AV ZRITTHD. B
e (1) [CRTSAUBEESNCE#MBEF (11) ODARTSAUE
EHRELTVET, B/\U—5TLU—r~(3) [CREHARTS1V
ZRIFTHD. NV TAHIN—(8) DARTSA VEEERELTL)
F9,7U0vavIL—k(4) N —5TL—K~(13) [FX
BICE#MEESNTVET ., JU—FERXNZE(15) [THE
DPMEHEENTLBWVWRETE. ATUY T (3) [CKo>TTIL—F
EXLY 0)BEBICHEN. UV TL—~4) &t
NU—5TU—h(13) ZH DI Bcsd. BRENE(FEE T DT
EDNTEF. TU—FHDHDFT BRONDSATUY T AIC
BB OENDOMZMIET DL TU—FEXRY (10) FEH
[SHURSN. JUT2avT—~(14) £e)\L—5TU—k(13)
DREICPREDE U TEREE D EE CED K SICED, TU—F (&
BRENE T,

This is a negative type, oil-lubricated, multi-disc parking
brake. Friction plates are cooled and lubricated by the drain
oil of the hydraulic motor. The braking operation is as
follows.

The friction plates (14) which are splined to the joint (11)
and the separator plates (13) which are splined to the valve
cover (8) are placed alternately. If not in operation, the brake
piston (10) is pushed leftward by the springs (3) and the
resultant friction force between the friction and the separator
plates restricts the driving shaft to rotate. On the other hand,
a release pressure larger than the spring force is applied to
the oil chamber (15) through the release port, the brake
piston (10) moves rightward and clearance is formed
between the plates. So the brake is released and the driving
shaft can rotate freely.

WVI3B £-5TZEAEMIE /DISPLACEMENT CHANGING MECHANISM OF M3B SERIES

4 M3B280,530,800

FROZFFHBICIE. FIRE U A RICRUCFA/ERRD R
NUBZ(CLOTHEZZFIDHRZEALTVET . #R
(CHEAFIEAER S 21872 W EECTIU . SHZE AN DR O A Z
HIDTETRRDERZE(ESE TRERELZTEVE T,

R (7) HIFHAEZN (K)
swash plate  large control piston

HIEAEEZN (/)

small control piston

= CF (a)
e

\ S
= chamber
chamber -
47097 (2)
\ cylinder block

The semi cylindrical slide plate, positioned at the both sides
of the swash plate, supports the load, as a swash plate
supporting mechanism. Two control pistons push swash
plate opposite to each other. Displacement is changed by
controlling the oil supply to the chambers to adjust the tilting
angle of the swash plate.

INJLTHIN—(8)
valve cover

eS| {BIES =
KEH =
release port low press. oil high press. oil

TL—%r—227(9) ﬁ @
brake casing

T T T T

TL—FEXRE (15) e =]

Fi I — oil chamber outlet port ! inlet port
EXk (4) ) P L
7 piston P s — 7L—FERR2(10) CD
< oy [ ﬂ brake piston
B / BRENEM (1) [\ TL—%27>7 (12) |
driving shaft brake spring
EIF (11)
joint
~__7Ura>7L—k(14)
friction plate
F AR AN 2 >2—(5) NLVTTL—h(6) \t/SL—2TL—k(13)
semicylindrical shoe valve plate separator plate
side plate
€ M3B200

FHRDZHHERB(C IS FIRE Y 1 R ICEC U e ERERAR D ER Y
PR=IVIEK O CTHEZFFIT DL ZHRALTNE T,

FRICEARIEAERN V 1EZEREL . RENRZHIGT D
CEICKDRIRDIEARZNELLE T MZHIGLIEVEEF.
EXNVEHEIVIIRTI Y THICK > TRIRDIBEULRE 1,
ERDEKICEDFRT,

HEAE RN FASA

The semi spherical pivot ball, positioned at the both sides of
the swash plate, supports the load, as a swash plate
supporting mechanism.

The tilting angle of the swash plate diminishes by
supplying the oil to the chamber of a control piston
positioned at the swash plate. On the other hand, when oil is
not supplied to the chamber, swash plate is retreated by the
forces applied to the pistons and by the cylinder spring and
the tilting angle becomes maximum.

22— (5) J470y7 (2)

control piston stopper shoe cylinder block
EXR> (4)
piston
= /
chamber
BRI (3)
d cylinder spring
=
N
 EREEN(1)
driving shaft
7 7/

ERyrR—IL
pivot ball

R (7)

swash plate

INIVTTL—h (6)
valve plate

INILTHIN—(8)
S valve cover

28



29

WEE EDFE “CAUTION FOR HANDLING

PED =

1. FEhh & R E E

OEEhAICIS . THEEFEMEEBBEHERL T230,

@1EEpIHIL. ¥5E 1 10~1,000mm?/s(cSt). ;& E:—20~+90
COEFETIERLLZEL,

@UUEETIZXT IR K—7)VIA—IL R EHFBEIZTIVREE
DHMRRIEENR R O NA A F IV EFRINSIZEIIEHR
(S FTITHEHL S,

EE

2. 7414

E-2DEGHIZTAZIZ—2a LA EIhET 227
ADTESNAIE . NASIIR LI DE S HIREEICEIEL T,
o BT IF2T—2DORYEFEICIFI0umD T IV EEEZITT
IR,

OE—2DEFEMARITTFRESRBL TSIV, T3 14
(CDWTE YIS TR S,

QOWEREME D LI+ D ERICITA > TLESW, FH X
L130.05mmEL FICL TS,

A\

CAUTION
1.0perating fluid and temperature range

@ Please use antiwear hydraulic fluid as operating fluid.

@ The allowable ranges of operating fluid are as follows.
Viscosity:10~1,000mm2/s (cSt)
Temperature:—20~+80C

® In case of using special fluid (Phosphate ester compounds,
water-glycol fluid, fatly acid ester compounds, etc.)
please consult Kawasaki for instructions prior to use.

A\

CAUTION

2.Filtration

For satisfactory service life of these motors application, the
operating fluid should be controlled cleaner than the cleanliness
level of NAS1638 Class9. Install a 10um filter in the return circuit of
respective actuators.

A

WARNING

3.Mounting

@ Regarding the mounting direction, please refer to the below list.
In case of the "Option" mentioned in the list, please consult
Kawasaki.

® Alignment should be so carried out that the parallel error may be
held within £0.05mm.

EHDHRE M3X/M3B | M3X/M3B-RG K3X
T *7oar *7oar *7oar
Ig — — =%

®E
4. KL B
OE—ZDRLCBEIETRICSRT LIS = TRISHD
R TALOILMBICHKEL TSV,
QORLUEREIRE—2DR— I IR EDKRONEREEFERL.
=2 REDE FH0.2MPa(2kgf/cm2) LITF . B LU E—
78 TH0.6MPa(6kgf/cm?) LI TICHBEIICL TR,

1

Direction of
{Lee"';',‘,’;‘{ M3X/M3B | M3X/M3B-RG K3X
Horizontal Standard Standard Standard
Down ward Option Option Option
Up ward — - Standard

A\

WARNING
4.Drain piping
@ The motor's drain port, as shown in the following figure, should
be so located that the casing can be filled with oil.

@ Use a drain tube bigger in size than the motor's port. Keep the
casing pressure normally below 0.2MPa (2kgf/cm?) and below
0.6MPa (6kgf/cm?) even at the peak.

=1

D

H

5. DT mELETTIRE

BEDFIC. T =Y TRICIBRL K=o b $mE T EL
TSV F ==V TARBSOHEREOI7HkEE+5
(CFTRS>TLERW, fEENRP AWE S EBARDAHICA
ERERRNBE M LBND HVET
F—ZRAE I HERISTRUTVWET,

D

H

6. N—F>TTL—%
TL—FRBN—FTHEATT  HEBTL—FELTOIERIE
TEERA, IL—FEBEREFEATIHEL T IBEEIEIE
TBRNC/IN—F T TL—FDEBILE VLIS TS,

A

BE

7. BARTE

DEFE—A2HHEHICERTFTCEITIVTIFTEDAKZIEEHZ
EHDRARMEIIZHKXDMEEERESHR I,
HMEAMNEXHEARI ELEIIEEIIYHETTERIV
EhEL{EEN,

Q@ E—2ENEMIIIXTANTELZET T HIEIITEE Ao

@ R HECIESTTIVHE ASANTEL &R T3
ZEWTEET IV TIREBEMZHGDERIZ23/—
TESBRREE,

FE

8. ¥vETF—a>DfAIE

BEICES> T E—EPEHINBZIGFEE . FYET—a P RE
LEWEIICBAR—NMIT—ZNENED I DDENFHIET,
EWRXDOMET — 2P DORIET—ZANEANIE . EEIRETD
EERLTVWET  REIP2BICETLTIEER. KR LED
T—XNENESZAZDEFHNETDTTEELLIL,

AR
9. B EERHTOREH
A1 R—RDIKERIL. 2.5MPa(25kgf/cm2) A T EH B L5

LTLEEV, 2.5MPa(25kgf/cm2) & #i A TEFRIhET & ##
AE L FIEE LB RIEEMN HET DT B EFTITHEHR LS,

A\

WARNING

5.0il filling and air venting

Before operation, be sure to fill the casing with oil through the
drain port . Vent all air out of the motor and hydraulic circuit prior
to operation.

The insufficient amount of oil may cause the lubrication failure,
resulting in the seizure of internal parts. The volume of the oil is
shown in the SPECIFICATIONS as case volume.

A\

WARNING
6.Parking brake

This brake should be used only for parking, are not for dynamic
braking. In case of driving inertial load, measures such as the
adoption of the time delay valve should be taken to prevent the
parking brake from being activated before the inertial mass stops.

A

WARNING
7.Radial and thrust load

(M Bearing life against the radial load applied to the shaft is
shown in the Performance curve for each motor type. If load
point or load direction is different, please consult us.

@ Do not apply thrust load to the shaft of these motors.

(® Radial and thrust load may be applied to the output shaft of
the reduction gears. Please refer to P23 for the relations
between the radial load and the bearing life.

/AN

CAUTION
8.Cavitation

When the motor is operating in an overrunning (pumping) mode,
then to prevent the occurrence of cavitation, a positive boost
pressure is required at the suction port. The minimum boost
pressure requirement shown in the model performance data is
based on the regular operation. In case of a rapid change of the
flow volume, more boost pressure must be applied.

AN\

CAUTION
9.Back pressure

The lower of the two main motor ports pressures should always
be less than 2.5MPa (25kgf/cm?). Pressure higher than this could
cause a possible reduction in motor performance. In case of any
doubt please consult us.

30



31

B fic &= /PIPING

WECE Y1 X/ Piping size

7 =X A R—b RL>R—bk INA Ay R R—bk - —R—Mib

model main port drain port pilot port, gage port, etc.
M3X200 4% special G3/8
M3X280 4%5% special G1/2 G1/4
M3X530 4% special G3/4 G1/4
M3X800A 4% special G3/4 G1/4
M3X800B 4#%% special G3/4 G1/4
M3B200 4% special G1/2 G1/4
M3B280 5% special G1/2 G1/4
M3B530 4% special G3/4 G1/4
M3B800A 4% special G3/4 G1/4
M3B800B %7 special G3/4 G1/4
K3X63 SAE 3/4" SAE 1/2" G1/4
K3X80,90,112 SAE1" SAE 1/2" G1/4
KSC19 G3/4
KSC19L G3/4
KDC28MR SAE 3/4" G1/4
KDC30MR SAE 1-1/4" G3/8
KDC40MR SAE 1-1/2" G1/4
B25C SAE1" G1/8
B35C SAE 1-1/4" SAE 3/8"
FV30 SAE 1-1/4" G1/4, G3/4
VBS-199 G1 G1

B X1 iR—MFB73523/Flange for main ports
E—YDAAVIR—MCEZERDMIDIENTEDTSVITY,
These flanges are attachable directly to the main ports of motors.

2

> —>

I3

¢d2
o | ¢d4
l i
30°
= 7{ m
o 0
= mE n o
T 2t ‘
L L
L s |
¢ds

A > R—4B75>/Flange for main ports

e I VY TSR RS (E-21E45)

7 & 11 l2 I3 l4 I le | di | d2 | d3 | d4 | ds | ds6 | d7 | ds m n flange-sub KPM parts list

model (for one motor)
M3B200 64 | 64 | 60 | 30 8.8 | 25 62 | 34.0| 35 | 22 |35.5| 35 |44.5|45.2| 2X4XM10-40 | G30 3703580-1668
M3X200 . 5
M3X/B280 74 | 74 | 60 | 30 95| 25 72 | 34.0| 38 | 22 |38.9| 40 |47.6|48.4| 2xX4XM12-45 | G35 3703580-1669
M3X/B530 :
M3X/B800A 74 | 74 | 70 | 35 |10.3| 30 72 | 42.7| 44 | 30 |44.5| 45 |54.0 |54.8 | 2X4XM12-45 | G40 3703580-1670
M3X/B800B | 94 | 94 | 70 | 35 |10.3| 30 92 |42.7| 44 | 30 |445| 45 |54.0|54.8| 2X4XM16-50 | G40 3703580-1671

WOV JF AR ORI 5 —/0-ring type thread connector
E—YDORLVVIR—b 1Oy MR—~ ABROEER—MIEZPTRIICEIRTDEETT,
These connectors are used to convert the drain ports, pilot ports, attached valves' piping ports, etc. into PT screws.

T Ti T2 |a|bloc|d|e|f|g]|h |swomimen
JIS 1/4" G1/4 RC1/4 |12 |17 | 29 | 5 | 11 | 19 | 19 | P11 | PSTB1124-6
JIS 3/8" G3/8 RC3/8| 12 |19 | 31 | 8 | 12 | 22 | 22 | P14 | PSTB1124-9
JIS 1/2" G1/2 RC1/2 | 16 22 38 10 15 27 | 27 P18 PSTB 1124-12
JIS 3/4" G3/4 RC3/4 | 17 25 42 16 17 36 36 P24 PSTB 1124-19
JIS 1" G1 RC1 21 27 48 22 19 41 41 P29 PSTB 1124-25
SAE 3/8" | 9/16-18UNF | RC3/8 | 9.9 | 19 [28.9| 7.0 | 12 |17.4| 22 |906™*"| PSTB 4043-6
SAE 1/2" 3/4-16UNF | RC1/2 |{11.1 | 22 |33.1|10.0| 15 [22.2| 26 908(*” PSTB 4043-8
SAE 3/4" 1-1/16-12UN| RC3/4 [15.0 | 25 |40.0|15.5| 17 |31.7| 35 912(*” PSTB 4043-12
SAE 1" 1-5/16-12UN| RC1 [15.0 | 27 |42.0|22.0| 19 |38.0| 41 916(*” PSTB 4043-16

(*1) SAE AS 586

T1

#f
$d

W A1 IR—hSAEZ N Z k)L R/Manifold for conversion into SAE flange
E—IDAAVINR—ESAET SV IICERTIEIRT BDIcHDVYZRILRTI,
These manifolds are used to convert motor main ports into SAE flanges.

i & 1| l2|18|la|ls|le |I7|l8 |19 |l10[l11] 12| d1|d2|d3 m n o p r s 7"@1’;23;*

model plat?;gygr}fgl}ﬂng?ég list
M3B200 150| 75(100(37.5| 27 | 9 |82 | 14 [41.0|57.2|27.8| 75| 62 | 25 | 35 |2x4xM10-85 | 1"*V | G1/4|9/16-18UNF *2|G30| P11|906*%|3724750-0615
mg§f3g80 150| 75(102(37.5| 27 | 9 |82 | 16 |41.057.2|27.8| 75| 72 | 25 | 35 |2x4xM12-85 | 1"*V | G1/4|9/16-18UNF *2|G30| P11|906*%|3724750-0616
M3X/B530 ; (1) (%2) (*3)
M3X/B80OA | 152| 75|102(37.5/27 | 9 | 96 | 17 |48.5(66.7|31.8| 79| 72 | 28 | 45 |2x4XM12-100 |11/4" V| G1/4| 9/16-18UNF **)| G40| P11|906'*?| 3724750-0617
M3X/B800B 202|102 (120 (50.0| 27 | 9 | 96 | 21 |48.5/66.7|31.8/102| 92 | 30 | 45 |2X4XM16-100 |1-1/4"*"| G1/4| 9/16-18UNF *| G40| P11| 906 37247500618

(**1) SAE high pressure series flange 6000 psi/metric screw

(*2) SAE 3/8"

(*x3) SAE AS 586

B 75> (SAE#RHS) / Flange for main ports (SAE standard)

SAERAEDEET SV ITT . MBYVU—XE—FICIFSAEEIRY Z IRV N ZHAT D2REDHDET

¢ds

These flanges are based on SAE standard. SAE conversion manifolds are necessary for M3 series.

T TPAX 11 l2 13 | l4 Is | d1 | d2 | d3 | d4 |ds | de | d7 m n o) 73>§#?§*15“§<{_71-é5})
flange size flange(fsolﬁt‘))r}éPnl\]/Io Oerl)rts list
3/4" *1) 20 50 24 | 48 51 30 19 |16.2 |27.2 | 36 74 11 3/4" 4XxXM10-35 | G25 3703580-1804
101 25 55 |27.8| 54 |57.2| 40 26 [21.2 |34.0 | 43 82 11 1" 4XM10-40 | G35 3703580-1805
1-1/4" *1) 30 65 |31.8| 61 |66.7| 45 32 |29.9 |42.7 | 50 96 14 1-1/4" 4XM12-45 | G40 3703580-1806
1-1/2 1) 35 75 |36.5| 70 |79.4| 50 38 |34.4 486 | 58 | 115 18 1-1/2" | 4XM16-55 | G45 3703580-1807
(**1) SAE high pressure series flange (6000 psi)
12 14
I1 13
4——‘ 30°
L N
< N AR VAR
|\
J )
I HOO:
o ° T|T| T
< - <9 % \ J -
15° m '
<

2.41+0.05

Jan
ﬁ
4-¢d1 X hole

32



33

AT FRURE 7+ vILVERANVE—S

#% No.
51 & 1k Bk #F#
i o4z b . HAt:
L R A M 8: 1 No.
)i =N
" | B4 B Ok # W os T B ¥ E s &
Lo HR cm?
A - P AR
Sl = (DS LB A cm3
J£ 7 iE MPa (kgf/cm?)
w® MPa (kgf/cm2)
Fii= E L/min
K L/min
FEHvs N-m (kgf-m)
It e 1] i 5k min™!
HJ3 S 27 VA T &4 T N (kgf), mm T5 VDS
=%y TL—% - %R
TL-FPVs N-m (kgf-m)
BEARRERIE ) 5E K MPa (kgf/cm?)
" 5 MPa (kgf/cm?)
SRz dy hours
at Vg = cmd, p= MPa, n= min~!, Zofil
FEB - ISOZL—F - $4# -
5 ] k35 A °C
i FH VR B ARG B2 mm?2/S (cSt)
17 =l FRZXGEERT—T1 ZTOM (TEEHEFEHMICTREN,)
B R VT LF 2L =D
W2 DM ZEE R AL R
[(» E]
B #A # 2
(B
O
=) B ofiT &8
wxan AIOYF JLYYayvvFU
SO B OE [ KPM =8 || KPM s

KAWASAKI SWASH-PLATE TYPE AXIAL PISTON MOTOR SERIES

No.
SPECIFICATION STUDIES.
Date :
Customer : Machine Model : Installation DWG. No.
Application : Motor Model :
ITEMS UNITS REQUIREMENTS PRODUCT SPECIFICATION [JUDGMENT| REMARKS
Displacement cm?
Reduction Gear — Necessary-Unnecessary
Total Displacement (if Necessary) cm?
Pressure Rated MPa (kgf/cm?)
Max. MPa (kgf/cm?)
Flow Rated L/min
Max. L/min
Actual Output Torque N-m (kgf-m)
Max. Speed min?!
Radial Load and Load Point N (kgf), mm from Flange
Parking Brake — Necessary-Unnecessary
Brake Torque N-m (kgf-m)
Release Pressure Rated MPa (kgf/cm?)
Max. MPa (kgf/cm?)
Required Bearing Life hours
at Vg = cm?, p= MPa, n= min~!, etc.
Hydraulic Fluid ISO Grade, Brand —
Oil Temperature Range °C
Oil Viscosity Range mm?S (cSt)

ITEM

USE CONDITION, DUTY CYCLE etc. (DESCRIBE in DETAIL)

H Optional Valve and Regulator Requirements

H Other Requirements
[Note]
DATE QUANTITY
Sample
Mass Production
Sales Department Machinery Engineering Dept
Kawasaki Precision Machinery Ltd.
Flow of this specification sheet . -
CUSTOMER e KPM/SALES DEP. <— KPM/MACH.ENG.DEP.

34



	1303_axial_motors_cover
	1225-a_motor01-02訂正 [更新済み]
	1225-a_motor03-04 [更新済み]
	1225-a_motor05-06 [更新済み]
	1225-a_motor07-08 [更新済み]
	1225-a_motor09-10 [更新済み]
	1225-a_motor11-12 [更新済み]
	1225-a_motor13-14 [更新済み]
	1225-a_motor15-16 [更新済み]
	1225-a_motor17-18 [更新済み]
	1225-a_motor19_20 [更新済み]
	1225-a_motor21_22 [更新済み]
	1225-a_motor23-24 [更新済み]
	1225-a_motor25-26 [更新済み]
	1225-a_motor27-28 [更新済み]
	1225-a_motor29-30 [更新済み]
	1225-a_motor31-32 [更新済み]
	1225-a_motor33-34ol [更新済み]

